OFFICE OF THE EXECUTIVE ENGINEER, EDUCATION WORKS DIVISION SHIKARPUR

NO:NEN/EWD/TC/- 859 of,2016

Shikarpur,dated: 2 / // / 2016

To,

The Assistant Director, Sindh Public Procurement Regulatory Authority, Government of Sindh, KARACHI.

SUBJECT:- SUBMISSION OF N.I.T

The N.I.T called by this office after completion of all codal formalities and Following required documents with hard/soft form is submitted herewith for further processing as desired.

I. N.I.T

2. Notification for Procurement Committee.

3. Notification for Complaint Rredressal Committee.

4. Bidding Datta.

5. Bill of Quantities (BOQ)

6. Annual Procurement Plan(2016-17)

7. Standard Bidding Documents for contracts costing upto Rs:2.5(Million)

D.....A/As Above

EXECUTIVE ENGINEER
EDECATION WORKS DIVISION
SHIKARPUIR

1977 1777 DIAMER 1977 DIAMER 1

Phone No: 0726-920186

Office of the Executive Engineer Education Works Division Shikarpur

No:/TC/G-55/ 858 / of /2016. Shikarpur Dated: 2 / 11 /2016.

Sealed Tenders on standard bidding documents are invited from interested contractors / firms / parties required as per SPPRA Rules 2010, for the following works.

S.No:	Name of Work	Estimated Cost	Earnest Money	Tender Fee	Time Allowed
		Sepa	rate list Attached		
1.	The Blank Tender for of tender fee shown a	against each worl	ζ.		
2.	The blank tender for 17.11.2016 at 2:00 opened on same day committee.	pm and will b	e received back or	18.11.2016	at 3.00 pm and
3.	Earnest Money as undersigned from a envelop as SPPRA Re	ny scheduled bai	each work shou nk & call deposit m	ld be deposite nust be attache	ed in favour o ed with tender in
4.	The undersigned or reject any or all tend	ers as per SPPRA	rules 2010.		
5.	Contract documents the office of the unde				etc can be seen ir
6.	The contractor will he documents. 1. Registration certif 2. The bidders shoul Rule 2010 amend 3. Registration with of submission bid 4. N.T.N Certificate. 5. Undertaking on all work in the Depart	icate with Pakista d produce registr ed rule 46 (1) (iii) Income Tax Depa s. ffidavit that firm i	an Engineering Cour ration with Sindh Ro of 2014. rtment (NTN Certific	ncil ending upt evenue Board in cate) copy of N.	o 31.12.2016 I light of SPPRA
7.	No conditional tende		ł.		
8.	If any holiday is an will be issued, received	nounced by the (Government on the		bove, the tenders
9.	In case any of t upto_ 28.11.2016 at 3:00 pm,				

EXECUTIVE ENGINEER EDITATION WORKS DIVISION SHIKARPUR

Copy FWC's to the:

Deputy Commissioner Officer Shikarpur.

Chief Engineer Education Works Sukkur for favour of information.

Superintending Engineer Education Works Circle Larkana for favour of information. Copy to the Director (A&F) Government of Sindh, Sindh Public Procurement Regulatory Authority, Karachi.

Superintending Engineer Education Works Circle Larkana for favour of information. Executive Engineer Buildings/Highways Division Shikarpur, for wide publicity.

Assistant Engineer Education Works Sub-Division Shikarpur, Lakhi ,Khanpur, Garhi Yasin,

The Notice Board / Drawing Branch.

LIST OF LOCATION

Н				Estimated	Earnest	Tender	
4	S.No:/ .D.F ¹ .No:	Name of Scheme/Location	Taluka	Cost in Million	Money in Million	Fee in Rupees	Time Allowed
٦		PROVINCIAL A.D.P. SCHEMES (ELECTRICAL WORK	(S)				
	123/143	Provision of Missing Facilities under Education Sector Reforms (ESR) (2009-10 Programme)					
	1	PACKAGE-I GBPS Sadoro Khan Jafferi GBPS Lal Pir	Shikarpur Shikarpur	0.100	0.005	1000	6 Months
	2	PACKAGE-II GBPS Habibullah Mungrani CBPS Muhammad Saleh Chachar @ Jumo Jhangwani	G.Yasin Khanpur	0.100	0.005	1000	6 Months
	3	PACKAGE-III GBPS Khan Muhammad Kori GBPS Dodo Kosh @ Eid Muhammad Brohi	Khanpur Khanpur	0.100	0.005	1000	6 Months
	4	PACKAGE-IV GBPS Jhangal Shar @ Muhammad Laiq Bhayo GBPS Nabi Bux Kalhoro	Khanpur Khanpur	0.100	0.005	1000	6 Months
	128/147 5	Construction of 2-Roomed Shelterless Primary Schools in Sindh (2007-08 Programme) PACKAGE-V					
		GBPS Gohar Bharchund GBPS Ghulam Hussain Pathan	Shikarpur Shikarpur	0.200	0.01	1000	6 Months
١	6	PACKAGE-VI					
	7	GBPS Habibullah Soomro GBPS Haji Noor Muhammad Jafferi PACKAGE-VII	Khanpur Khanpur	0.150	0.008	1000	6 Months
	*	GBPS Allah Warayo Jafferi GBPS Azeem Jafferi	Khanpur Khanpur	0.200	0.01	1000	6 Months
	162/255	Up-gradation of Middle Schools to High Schools & High Schools to Higher Secondary Schools in Sindh (2007-08 Programme)					
		Middle Schools to High Schools	•				
	8	GGMS Bukeja Muhallah U.C-7	Shikarpur	0.300	0.015	1000	6 Months
1	164/257	Rehabilitation of existing High / Higher Secondary Schools in Sindh (2008-09 Programme)			2		
1	9	GBHS Hamayoon	Shikarpur	0.250	0.013	1000	6 Months
1		Construction / Re-Construction of Existing Offices for field Officers of Education & Literacy Department in Larkano Division					
	10	District Education Office Shikarpur	Shikarpur	0.400	0.02	1000	6 Months
	329/19	DISTRICT A.D.P. SCHEMES Rehabilitation of Existing Boys/ Girls Primary/Elementary of Taluka & District Shikarpur (2013-14 Programme)					
1	11	GBPS New Foujdari	Shikarpur	0.200	0.01	1000	6 Months
	12	GGPS Qazi Habibullah	Shikarpur	0.200	0.01	1000	6 Months

S.No:/ A.D.P.No:	Name of Scheme/Location	Taluka	Estimated Cost in Million	Earnest Money in Million	Tender Fee in Rupees	Time Allowed
2336/26	Rehabilitation of Existing Boys/Girls Primary/Elementary of Taluka Garhi Yasin, District Shikarpur (2013-14 Programme)					
13	PACKAGE-VIII					
	GBPS Unnar	G.Yasin				
	GBPS Tunia	G.Yasin	0.200	0.01	1000	6 Months
2343/33	Rehabilitation of Existing Boys/Girls Primary/Elementary of Taluka Lakhi, District Shikarpur (2013-14 Programme)					
14	GGPS.Wazir Abad	Lakhi	0,200	0.01	1000	6 Months
2348/38	Rehabilitation of Existing Boys/Girls Primary/Elementary of Taluka Khanpur, District Shikarpur (2013-14 Programme)					
15	GBPS Mehmood Bagh	Lakhi	0.300	0.015	1000	6 Months
2342/32	Rehabilitation of Existing Building for Boys /Girls Secondary/ Higher Secondary Schools of Taluka Lakhi District Shikarpur (2013-14 Prog:)					
16	GBHSS Lakhi	Lakhi	0.200	0.01	1000	6 Months
1	Rehabilitation of Existing Building for Boys/Girls Primary School of Tal: Lakhi District Shikarpur (2015-16 Progr)					
17	GGPS Lakhi	Lakhi	0.200	0.01	1000	6 Months
18	GGMS Bhirkan	Lakhi	0.300	0.01	1000	6 Months
	GGPS Malhi Goth Rehabilitation of Existing Building for Boys/Girls Primary Elemantary Schools of Tal: Khanpuri District Shikarpur (2013-14 Progr) (External Development)	Lakhi	0.100	0.005	1000	6 Months
20 .	GBPS Umar Jafferi	Khanpur	0.900	0.045	2000	6 Months
21 (GBPS Qazı Patti	Khanpur	0.900	0.045	2000	6 Months





GOVERNMENT OF SINDH EDUCATION & LITERACY DEPARTMENT

Karachi, date the 27-10-2015

NOTIFICATION

NO.SO(G) EDU/E&A/PRO-EW(SHP)/14-15: In pursuance of Rule – 7 of the Sindh Public Procurement Rules, 2010, a Departmental Procurement Committee comprising of following Officers for procurement of works for Education Works Division Shikarpur working under Administrative Control of Education & Literacy Department to be procured under ADP / Regular Budget / SNE of Education Department is constituted as under:-

1. Executive Engineer (Education Works)
Education Works Division, Shikarpur
Education & Literacy Department

Chairman

2. Assistant Engineer
Provincial Highway Shikarpur
Works & Services Department

Member

3. Assistant Engineer
Education Works sub Division Shikarpur
Education & Literacy Department

Member

ToRs

Preparing bidding documents;

Carrying out technical as well as financial evaluation of the bids;

Preparing evaluation report as provided in Rule 45 of SPPRA 2010;

Making recommendations for the award of contract to the competent authority; and

Perform any other function ancillary and incidental to the above.

- DR. FAZLULLAH PECHUHO -SECRETARY TO GOVT. OF SINDH

NO.SO(G) EDU/E&A/PRO-EW(SHP)/14-15:

Karachi, date the 27th October, 2015

A copy is forwarded for information & necessary action to:-

1. All Members of the Committee.

2. The P.S. to Senior Minister, Education & Literacy Department, Govt. of Sindh, Karachi.

3. The P.S to Secretary, Education & Literacy Department.

4. The P.S to Secretary, Works & Services Department, Karachi.

5. Office Order File

7 DEPUTY SECRETARY (GA



GUVERNMENT OF STROM EDUCATION & LITERACY DEPARTMENT Karachi, date the 28 04-2015

NOTIFICATION

N.O.SOTGI EDU/E&A/PRO-EW(CRC)/14-15: In pursuance of Rute - 31 of the Shodh Public Procurement Rules, 2010 a Departmental Complaint Redressal Committee comprising of following Officers is constitute the under to resolve complaint's of aggrieved bidders:-

Superintendent Engineer (Education Works) of concerned Education Works Circle Education & Literacy Department

Chairman

Representative of District Account Officer /

Member

Accountant General, Sindh

Representative of Head of procuring Agency Professional from relevant field concerning)

Member

FoRs

To perform according to Rule - 31 of SPPRA, 2010:

Perform any other function ancillary and incidental to the above.

SECRETARY EDUCATION TO GOVT, OF SINDH

NO SCHOOL E&A PRO-EW(CRC)/14-15:

Karachi, date the 28th May, 2015

A copy is forwarded for information & necessary action to:-

- 1. All Members of the Committee.
- 2. The P.S to Secretary, Education & Literacy Department.
- 3. Whice Order File



TLEN BICE TO ...

NII. NO: 1 C/ G55/

Dated:

BIDDING DATA

		Govt: Contractor.
(n). D.R.NO: DA	TED:Amour	nt 1000/-(Rupees: One Thousand only).
Bank		
(m). Deposit Receipt No:	Date:	Amount:Rs:
(L).Liquidity damages:- per day of delay, but total no	-NIL- (0.05 context) t exceeding 10%).	of Estimated Cost or Bid cost
(k). Time for Completion fr	om written order of com	mence: - 06 Months
(j). Venue, Time, and Date	of Bid Opening:- Near GB	BHS II (Shikarpur As Per NIT).
(i). Deadline for Submission	n of Bids along with tim	e :- As Per NIT
(h). Percentage, if any, to b	oe deducted from bills:-	7.50% Income tax
(g).Security Deposit:-(including %) (in % age of bid amount /est		10%
(f).Period of Bid Validity (d	lays):- 60 Days (Not mor	e than sixty days).
(e). Amount of Bid Securit amount or in % age of bid a		(Fill in lump sum to not exceeding 5%)
(d). Estimated Cost:	0.100 (Millions).	
(c).Procuring Agency's ad	dress:-Executive Engineer (E Near GBHS No.II Shik	Education Works) Division Shikarpur arpur.
(b). Brief Description of W		n of Missing facilities under rms (ESR (2009-10 Prog.)
(a). Name of Procuring Ag	ency:- Executive Engineer (E Division Shikarpur.	ducation Works)
(This section should be filled of the Bidding Documents).	d in by the Engineer/Procu	ring Agency before issuance

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:- Provision of Missing Facilities under Education Sector Reforms (ESR) (2009-10 Programme) PACKAGE-I (i) GBPS Sadoro Khan Jafferi (ii) GBPS Lal Pir Tal: Shikarpur

Item No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
INO.		PART-A SCHEDULE ITEM			
1	20	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required (S.I.NO. 129 .P.NO.15)	910.00	P.Point	18,200
2	-4	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required (S.I.NO. 130 .P.NO.15)	742.00	P.Point	2,968
3	70	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface fitted (S.I.NO.3.P.NO.33)	171.00	P.Meet	11,970
4	20	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219.P.NO.33)	54.00	P.No:	1,080
5	4	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	332
6	1	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.L.NO.226.P.NO.33)	151.00	P.No:	151
7	6	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required (S.I.NO.202.P.NO.30)	916.00	P.No:	5,496
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required (S.I.NO.202.P.NO.30)	2,456.00	P.No:	4,912
9	6	Providing and Fixing Bake lite ceiling rose with two terminels (SLNO 228 P.NO 33)	72.00	P.No:	432
10	10	Providing and Fixing Brass Button holder (S.I.NO.232 P.NO.33)	70.00	P.No:	700
11	6	Providing and Fixing ceiling fans 56" size good qulity (SLNO.235.P.NO.34)	3,185.00	P.No:	19,110
12	40	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in 1" dia PVC conduate (S.I.NO.6.P.NO.1)	428.00	P.No:	17,120
				Total -A	82,471

		PART-B NON SCHEDULE ITEMS 2004			
1	2	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer job on surface (S.I.NO.18.P.NO.13)	907.96	P.Sft	1,816
2	6	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C. (S.L.NO.1.P.NO.14)	141.01	P.No:	846
3	0	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	-
4	4	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	1,988
5	6	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	2,982
6	4	Providing and Fixing Blub 100 watt (S.I.NO)	25.00	P.No:	100

plate buried in ground at a depth of 12" or less if water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type		

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
SHIKARPUR

Amount Total (CSR)

Part"A"	% Above / Below	Total Amount	
Part "B"	% Above / Below	Total Amount	
Part "C"	% Above / Below	Total Amount	*
		Total "A+R+C"	

CONTRACTOR

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

(a). Name of Procuring Agency:- Executive Engineer (Education Works)
Division Shikarpur.

PROVINCIAL ADP SCHEMES

(b). Brief Description of Works:- ADP 123/143 Provision of Missing facilities under Education Sector Reforms (ESR (2009-10 Prog.)

PACKAGE-II

GBPS Habibullah Mungrani

GBPS Muhammad Saleh Chachar @ Jumo Jhangwani

			Division Shikarpur
Nea	ar GBHS No.II Sh	karpur.	
:- 0.100 (1	Millions).		
Security: of bid amount /es	5% timated cost, b	(Fil ut not exceeding	l in lump sum 5%)
lidity (days):- 60	Days (Not mo	re than sixty day	rs).
ny, to be deducte	ed from bills:-	7.50% Incom	ne tax
mission of Bids	along with tin	ne :- As Per NIT	
d Date of Bid Op	ening:- <u>Near G</u>	BHS II (Shikarpur	As Per NIT).
etion from writte	n order of con	nmence:0	6 Months
		of Estimated Co	ost or Bid cost
No:	Date:	Amoun	t:Rs:
			0
Mr. / M/s		80	vt: Contractor.
	Security: of bid amount /es lidity (days):- 60 t:-(including bid ount /estimated cost ony, to be deducted on from writted by the cost of Bid Operation from writted total not exceeding total not exceeding total not exceeding the cost of Bid Operation from writted total not exceeding total not exceeding the cost of Bid Operation from writted total not exceeding total not exceeding total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceeding the cost of Bid Operation from writted total not exceed to a second from the cost of Bid Operation from writted total not exceed to a second from the cost of Bid Operation from the cost of Bid Operation from writted total not exceed to a second from the cost of Bid Operation from the cost o	Near GBHS No.II Shi :	Cy's address:-Executive Engineer (Education Works) In Near GBHS No.II Shikarpur. Security:

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:- Provision of Missing Facilities under Education Sector Reforms (ESR) (2009-10 Programme)

PACKAGE-II (i) GBPS Habibullah Mungrani Tal: G.Yasin (ii) GBPS Muhammad Saleh Chachar @

Jumo Jhangwani Taluka Khanpur

Item	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1	20	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required (S.I.NO. 129 .P.NO.15)	910.00	P.Point	18,200
2	4	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4")	742.00	P.Point	2,968
3	70	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface fitted (S.I.NO.3.P.NO.33)	171.00	P.Meet:	11,970
4	20	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219.P.NO.33)	54.00	P.No:	1,080
5	4	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	332
6	1	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (\$1.NO.226.P.NO.33)	151.00	P.No:	151
7	6	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required (S.I.NO.202, P.NO.30)	916.00	P.No:	5,496
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required (S.I.NO.202.P.NO.30)	2,456.00	P.No:	4,912
9	6	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	432
10	10	Providing and Fixing Brass Button holder (S.I.NO.232.P.NO.33)	70.00	P.No:	700
11	6	Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235.P.NO.34)	3,185.00	P.No:	19,110
12	40	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in 1" dia PVC conduate	428.00	P.No:	17,120
				Total -A	82,471

		PART-B NON SCHEDULE ITEMS 2004			
1	2	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer job on surface (S.I.NO.18.P.NO.13)	907.96	P.Sft	1,816
2	6	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	846
3	0	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	
4	4	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	1,988
5	6	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	2,982
6	4	Providing and Fixing Blub 100 watt (S.1.NO	25.00	P.No:	100
7	6	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with plastic sheet (S.I.NO.2b.P.NO.14)	124.30	P.No:	746
10	2	Providing & fixing earthin set with 2x2x1/4" cooper plate buried in ground at a depth of 12" or less if water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec	3,610.04	P.No:	7,220

10	2	Providing & fixing earthin set with 2x2x1/4" cooper plate buried in ground at a depth of 12" or less if water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec	3,610.04	P.No:	7,220
				Total -B	15,698

Amount Total (CSR)

EXECUTIVE ENGINEER EDUCATION WORKS DIVISION SHIKARPUR

Part "A"	% Above / Below	Total Amount	
Part "B"	% Above / Below	Total Amount	
Part "C"	% Above / Below	Total Amount	
		Total "A+B+C"	

CONTRACTOR

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

(a). Name of Procuring Agency:- Executive Engineer (Education Works)

Division Shikarpur.

PROVINCIAL ADP SCHEMES

(b). Brief Description of Works:- ADP 123/143 Provision of Missing facilities under Education Sector Reforms (ESR (2009-10 Prog.)

PACKAGE-III

GBPS Khan Muhammad Kori

GBPS Dodo Kosh @ Eid Muhammad Brohi

(c).Procuring Agency	ACTOR STATE OF THE	Engineer (Education S No.II Shikarpur.	VVORKS) DIVISION SHIKARPUR
(d). Estimated Cost:-	0.100 (Millions).	
(e). Amount of Bid Se amount or in % age of	ecurity:5% f bid amount /estimate	d cost, but not ex	(Fill in lump sum ceeding 5%)
(f).Period of Bid Valid	lity (days):- 60 Days	(Not more than s	sixty days).
(g).Security Deposit: (in % age of bid amour			10%
(h). Percentage, if any	y, to be deducted fro	m bills:7.5	0% Income tax
(i). Deadline for Subm	nission of Bids along	with time :- As F	Per NIT
(j). Venue, Time, and	Date of Bid Opening:	- Near GBHS II (S	hikarpur As Per NIT).
(k). Time for Complet	ion from written orde	r of commence:	- 06 Months
(L).Liquidity damages per day of delay, but to			ated Cost or Bid cost
(m). Deposit Receipt No	:Dat	te:	Amount:Rs:
Bank			
(n). D.R.NO:	DATED:	Amount 1000/-	-(Rupees: One Thousand only)
(o). Tender issued to M			Govt: Contractor.

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Provision of Missing Facilities under Education Sector Reforms (ESR) (2009-10 Programme)

PACKAGE-III (i) GBPS Khan Muhammad Kor (ii) GBPS Dodo Kosh @ Eid

* Item No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1	20	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required	910.00	P.Point	18,200
2	4	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required	742.00	P.Point	2,968
3	70	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface	171.00	P.Meet:	11,970
4	20	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219.P.NO.33)	54.00	P.No:	1,080
5	4	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	332
6	1	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33)	151.00	P.No:	151
7	6	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required	916.00	P.No:	5,496
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required	2,456.00	P.No:	4,912
9	6	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	432
10	10	Providing and Fixing Brass Button holder (S.I.NO.232.P.NO.33)	70.00	P.No:	700
11	6	Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235.P.NO.34)	3,185.00	P.No:	19,110
12	40	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in	428.00	P.No:	17,120
		To the state of th	=	Total -A	82,471

		PART-B NON SCHEDULE ITEMS 2004			
1	2	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer iob on surface	907.96	P.Sft	1,816
2	6	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	846
3	0	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	-
4	4	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	1,988
5	6	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	2,982
6	4	Providing and Fixing Blub 100 watt (S.I.NO. P.NO.)	25.00	P.No:	100
7	6	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with plastic sheet (S.I.NO.2b.P.NO.14)	124.30	P.No:	746

10	2	Providing & fixing earthin set with 2x2x1/4" cooper plate buried in ground at a depth of 12" or less if water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec	3,610.04	P.No:	7,220
				Total -B	15.698

Amount Total (CSR)

EXECUTIVE ENGINEER EDUCATION WORKS DIVISION SHIKARPUR

Part "A"	% Above / Below	Total Amount	
Part "B"	% Above / Below	Total Amount	
Part "C"	% Above / Below	Total Amount	
		Total "A+B+C"	

CONTRACTOR

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

(a). Name of Procuring Agency:- Executive Engineer (Education Works)

Division Shikarpur.

PROVINCIAL ADP SCHEMES

(b). Brief Description of Works:- ADP 123/143 Provision of Missing facilities under Education Sector Reforms (ESR (2009-10 Prog:) PACKAGE-IV

GBPS Jhangal Shar @ Muammad Laig Bhayo

GBPS Nabi Bux Kalhor

(c).Procuring Agency's address:-Executive Engineer (Education Works) Division Shikarpur
Near GBHS No.II Shikarpur.

			1727	
(d). Estimated Cost:-	0.100	(Millions).		
(e). Amount of Bid Se amount or in % age o	ecurity: f bid amount /e	5% estimated cost, bu	(Fill it not exceeding	in lump sum 5%)
f).Period of Bid Valid	dity (days):- 6	0 Days (Not mor	e than sixty day	s).
g).Security Deposit: in % age of bid amou				
h). Percentage, if an	y, to be deduc	ted from bills:-	7.50% Incom	e tax
i). Deadline for Subn	nission of Bid	s along with tim	e :- As Per NIT	
j). Venue, Time, and	Date of Bid O	pening:- Near GB	HS II (Shikarpur	As Per NIT).
k). Time for Complet	ion from writt	en order of com	mence:0	6 Months
L).Liquidity damage per day of delay, but to			of Estimated Co	st or Bid cost
m). Deposit Receipt No): <u></u>	Date:	Amount	:Rs:
Bank				8
n). D.R.NO:				
o) Tender issued to M	Ar / M/s		GOV	A: Contractor

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Provision of Missing Facilities under Education Sector Reforms (ESR) (2009-10 Programme)

PACKAGE-IV (i) GBPS Jhangal Shar @ Mihuhammad Laiq Bhayo (ii) GBPS Nabi

Bux Kalhoro Tal: Khanpur

Item No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1	20	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required	910.00	P.Point	18,200
2	4	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required	742.00	P.Point	2,968
3	70	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface	171.00	P.Meet:	11,970
4	20	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219,P.NO.33)	54.00	P.No:	1,080
5	4	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	332
6	1	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33)	151.00	P.No:	151
7	6	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required	916.00	P.No:	5,496
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required	2,456.00	P.No:	4,912
9	6	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	432
10	10	Providing and Fixing Brass Button holder (S.I.NO,232.P.NO.33)	70.00	P.No:	700
11	6	Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235.P.NO.34)	3,185.00	P.No:	19,110
12	40	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in	428.00	P.No:	17,120
		The state of the s		Total -A	82,471

		PART-B NON SCHEDULE ITEMS 2004			
1	2	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer iob on surface	907.96	P.Sft	1,816
2	6	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	846
3	0	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	-
4	4	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	1,988
5	6	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	2,982
6	4	Providing and Fixing Blub 100 watt (S.I.NOP.NO.)	25.00	P.No:	100
7	6	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with plastic sheet (S.I.NO.2b.P.NO.14)	124.30	P.No:	746

8	.2	Providing & fixing earthin set with 2x2x1/4" cooper plate buried in ground at a depth of 12" or less if water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec	3,610.04	P.No:	8	7,220
ě.				Total -B	1	15,698

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
SHIKARPUR

Amount Total (CSR)
----------------	------

Part "A"	% Above / Below	

WHIPS - 15 45

Total Amount

 Total Amount

Total Amount

Total "A+B+C"

CONTRACTOR

NII. NO: IC/ G55/ Dated:

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

(a). Name of Procuring Agency:- Executive Engineer (Education Works)

<u>Division Shikarpur.</u>

PROVINCIAL ADP SCHEMES

(b). Brief Description of Works:- ADP 128/147 Construction of 2-Roomed Shelterless
Primary Schools in Sindh (2007-8) Programme

PACKAGE-V

GBPS Gohar Bharchund GBPS Ghulam Hussain Pathan

(c).Procuring Agend		xecutive Engineer ear GBHS No.II Sh		Division Shikarpur
(d). Estimated Cost	0,200	(Millions).		
(e). Amount of Bid s amount or in % age	Security: of bid amount /e	5% estimated cost, b	(Fi	ill in lump sum g 5%)
(f).Period of Bid Val	idity (days):- 🚊	0 Days (Not mo	ore than sixty da	ys).
(g).Security Deposit (in % age of bid amo				
(h). Percentage, if a	ny, to be deduc	cted from bills:	7.50% Inco	me tax
(i). Deadline for Sub	mission of Bid	s along with tir	ne :- As Per NIT	
(j). Venue, Time, and	d Date of Bid O	pening:- Near C	BHS II (Shikarpu	r As Per NIT).
(k). Time for Comple	etion from writt	en order of cor	nmence:	06 Months
(L).Liquidity damag per day of delay, but			of Estimated C	ost or Bid cost
(m). Deposit Receipt N	lo:	Date:	Amour	ıt:Rs:
Bank				0
(n). D.R.NO:	DATED:	Amo	unt 1000/-(Rupees	: One Thousand only
(o). Tender issued to			O	

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Construction of 2-Roomed Shelterless Primary Schools in Sindh (2007-08 Programme)

PACKAGE-V (i) GBPS Gohar Bharchund (ii) GBPS Ghulam Hussain Pathan Tal:

Shikarpur

Item No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1	40	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required	910.00	P.Point	36,400
2	8	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required	742.00	P.Point	5,936
3	170	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface	171.00	P.Meet:	29,070
4	40	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219.P.NO.33)	54.00	P.No:	2,160
5	8	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	664
6	2	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33)	151.00	P.No:	302
7	12	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required	916.00	P.No:	10,992
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required	2,456.00	P.No:	4,912
9	12	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	864
10	20	Providing and Fixing Brass Button holder (S.I.NO.232, P.NO.33)	70.00	P.No:	1,400
11	12	Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235.P.NO.34)	3,185.00	P.No:	38,220
12	100	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in	428.00	P.No:	42,800
				Total -A	173,720

		PART-B NON SCHEDULE ITEMS 2004			
1	2	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer iob on surface	907.96	P.Sft	1,816
2	6	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	846
3	0	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	9
4	8	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	3,976
5	16	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	7,952
6	4	Providing and Fixing Blub 100 watt (S.I.NO. P.NO.)	25.00	P.No:	100
7	6	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with plastic sheet (S.I.NO.2b.P.NO.14)	124.30	P.No:	746

7 8	2	Providing & fixing earthin set with 2x2x1/4" cooper plate buried in ground at a depth of 12" or less if water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec	3,610.04	P.No.	8	7.220
				Total -B	10	22,656

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
SHIKARPUR

Amount Total (CSR)

Part "C"

Part "B"	% Above / Below	Total Amount

% Above / Below _____ Total Amount

Total "A+B+C"

CONTRACTOR

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
SHIKARPUR

Total Amount

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

(a). Name of Procuring Agency:- Executive Engineer (Education Works)

Division Shikarpur.

PROVINCIAL ADP SCHEMES

(b). Brief Description of Works:- ADP 128/147 Construction of 2-Roomed Shelterless

Primary Schools in Sindh (2007-8) Programme

PACKAGE-VI

GBPS Habibullah Soomro

GBPS Haji Noor Muhammad Jafferi

(c).Procuring Age	ncy's address	Near GBHS No.II		ks) Division Sn	ikarpur
(d). Estimated Co	st:0.′	150 (Millions).			
(e). Amount of Bio amount or in % ag	I Security: e of bid amour	5% nt /estimated cost	, but not excee	(Fill in lump ding 5%)	sum
(f).Period of Bid V	alidity (days):	- 60 Days (Not r	more than sixty	days).	
(g).Security Depor	10.				
(h). Percentage, if	any, to be de	ducted from bills	s:7.50% I	ncome tax	
(i). Deadline for Si	ubmission of	Bids along with	time :- As Per N	шт	
(j). Venue, Time, a	nd Date of Bio	d Opening:- Near	GBHS II (Shika	rpur As Per N	<u>IT).</u>
(k). Time for Comp	oletion from w	ritten order of c	ommence:	06 Months	194
(L).Liquidity dama per day of delay, bu			5 of Estimated	Cost or Bio	d cost
(m). Deposit Receipt	No:	Date:	Am	ount:Rs:	
Bank					P
(n). D.R.NO:				pees: One Thous	and on
(o). Tender issued t				Gove Contra	

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Construction of 2-Roomed Shelterless Primary Schools in Sindh (2007-08 Programme)

PACKAGE-VI (i) GBPS Habibullah Soomro (ii) GBPS Noor Muhammad Jafferi Tal:

Khanpur

Item No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1	40	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required	910.00	P.Point	36,400
2	8	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required	742.00	P.Point	5,936
3	170	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface	171.00	P.Meet:	29,070
4	40	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219.P.NO.33)	54.00	P.No:	2,160
5	8	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO,225,P.NO.33)	83.00	P.No:	664
6	2	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33)	151.00	P.No:	302
7	12	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required	916.00	P.No:	10,992
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required	2,456.00	P.No:	4,912
9	12	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	864
10	20	Providing and Fixing Brass Button holder (S.I.NO.232.P.NO.33)	70.00	P.No:	1,400
11	12	Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235, P.NO.34)	3,185.00	P.No:	38,220
12	100	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in	428.00	P.No:	42,800
		The state of the s		Total -A	173,720

		PART-B NON SCHEDULE ITEMS 2004			
1	2	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer iob on surface	907.96	P.Sft	1,816
2	6	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	846
3	0	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	-
4	8	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	3,976
5	16	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	7,952
6	4	Providing and Fixing Blub 100 watt (S.I.NO. P.NO.)	25.00	P.No:	100
7	6	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with plastic sheet (S.I.NO.2b.P.NO.14)	124.30	P.No:	746

, 8	2	Providing & fixing earthin set with 2x2x1/4" cooper plate buried in ground at a depth of 12" or less if water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec	3,610.04	P.No:	0	7,220
,				Total -B	1	22,656

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
SHIKARPUR

Amount Total (CSR)

Part "A"	% Above / Below	Total Amount	
Part "B"	% Above / Below	Total Amount	
Part "C"	% Above / Below	Total Amount	
		Total "A+B+C"	

CONTRACTOR

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents). (a). Name of Procuring Agency: - Executive Engineer (Education Works) Division Shikarpur. PROVINCIAL ADP SCHEMES (b). Brief Description of Works:- ADP 128/147 Construction of 2-Roomed Shelterless Primary Schools in Sindh (2007-8) Programme PACKAGE-VII GBPS Allah Warayo Jafferi GBPS Azeem Jafferi (c). Procuring Agency's address: - Executive Engineer (Education Works) Division Shikarpur Near GBHS No.II Shikarpur. (d). Estimated Cost:- 0.200 (Millions). (e). Amount of Bid Security:- 5% (Fill in lump sum amount or in % age of bid amount /estimated cost, but not exceeding 5%) (f).Period of Bid Validity (days):- 60 Days (Not more than sixty days). (g).Security Deposit:-(including bid security):-(in % age of bid amount /estimated cost equal to 10%) (h). Percentage, if any, to be deducted from bills:- 7.50% Income tax (i). Deadline for Submission of Bids along with time :- As Per NIT (j). Venue, Time, and Date of Bid Opening: - Near GBHS II (Shikarpur As Per NIT). (k). Time for Completion from written order of commence: - 06 Months (L).Liquidity damages:- _____ (0.05 of Estimated Cost or Bid cost per day of delay, but total not exceeding 10%). (m). Deposit Receipt No: _____ Date: ____ Amount:Rs: Bank (n). D.R.NO: DATED: Amount 1000/-(Rupees: One Throsand only). Govt: Contractor. (o). Tender issued to Mr. / M/s

TION WORKS DIVISION

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Construction of 2-Roomed Shelterless Primary Schools in Sindh (2007-08 Programme)

PACKAGE-VII (i) GBPS Allah Wa	arayo Jafferi (ii) GBPS	Azeem Jafferi Ta	al: Khanpur

Item No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1	40	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required	910.00	P.Point	36,400
2	8	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required	742.00	P.Point	5,936
3	170	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface	171.00	P.Meet:	29,070
4	40	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219.P.NO.33)	54.00	P.No:	2,160
5	8	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	664
6	2	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33)	151.00	P.No:	302
7	12	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required	916.00	P.No:	10,992
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required	2,456.00	P.No:	4,912
9	12	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	864
10	20	Providing and Fixing Brass Button holder (S.I.NO.232.P.NO.33)	70.00	P.No:	1,400
11	12	Providing and Fixing ceiling fans 56" size good qulity (S.1.NO.235.P.NO.34)	3,185.00	P.No:	38,220
12	100	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in	428.00	P.No:	42,800
				Total -A	173,720

		PART-B NON SCHEDULE ITEMS 2004			
t	2	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer iob on surface	907.96	P.Sft	1,816
2	6	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	846
3	0	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	2
4	8	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	3,976
5	16	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	7,952
6	4	Providing and Fixing Blub 100 watt (S.I.NOP.NO.)	25.00	P.No:	100
7	6	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with plastic sheet (S.I.NO.2b.P.NO.14)	124.30	P.No:	746

 2	Providing & fixing earthin set with 2x2x1/4" cooper plate buried in ground at a depth of 12" or less it water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec	P.No.		7,220
		Total -B	X	22,656

Amount Total (CSR) EDUCATION WORKS DIVISION

SHIKARPUR

Part "A"	% Above / Below	Total Amount	
Part "B"	% Above / Below	Total Amount	
Part "C"	% Above / Below	Total Amount	
		Total "A+B+C"	

CONTRACTOR

BIDDING DATA

8

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

(a). Name of Procuring Agency:- Executive Engineer (Education Works)

<u>Division Shikarpur.</u>

PROVINCIAL ADP SCHEMES

(b). Brief Description of Works:- ADP 162/255 Up-gradation M.S to H.S and HS to HSS in Sindh (2007-8) Programme

Middle School to High School

GGMS Bukeia Muhalla Shikarpur

c).Procuring Agency's address:-Executive Engineer (Education Works) Division Shikarpur
Near GBHS No.II Shikarpur.
d). Estimated Cost:- 0.300 (Millions).
e). Amount of Bid Security: 5% (Fill in lump sum amount or in % age of bid amount /estimated cost, but not exceeding 5%)
Period of Bid Validity (days):- 60 Days (Not more than sixty days).
g).Security Deposit:-(including bid security):- 10% n % age of bid amount /estimated cost equal to 10%)
n). Percentage, if any, to be deducted from bills:
). Deadline for Submission of Bids along with time :- As Per NIT
). Venue, Time, and Date of Bid Opening:- Near GBHS II (Shikarpur As Per NIT).
x). Time for Completion from written order of commence:06 Months
.).Liquidity damages: (0.05 of Estimated Cost or Bid cost er day of delay, but total not exceeding 10%).
n). Deposit Receipt No: Date: Amount:Rs:
ank
). D.R.NO: DATED: Amount 1000/-(Rupees: One Thousand only)
Tender issued to Mr. / M/s

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

8

Up-gradation of Middle Schools to High Schools & High Schools to Higher Secondary Schools in Sindh (2007-08 Programme)

GGMS Bukeja Muhalla

60 10 240 60	PART-A SCHEDULE ITEM Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface	910.00 742.00 171.00	P.Point P.Point	54,600
10 240 60	wire in 20 mm(3/4") Chennal pati on surface as required Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required Providing & laying (MAIN OR SUB MAIN) PVC	742.00		
240	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required Providing & laying (MAIN OR SUB MAIN) PVC		P.Point	7.40
60	Providing & laying (MAIN OR SUB MAIN) PVC	171.00		7,420
	Insulated with size 2-7/0.29 coper conductor on surface 1	171.00	P.Meet:	41,040
10	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219.P.NO.33)	54.00	P.No:	3,240
	Providing and Fixing Two Pin S.P.5 amps Plug & Socket	83.00	P.No:	830
2	Providing and Fixing Three Pin 10/15 amps Plug &	151.00	P.No:	302
12	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 &	916.00	P.No:	10,992
2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 &	2,456.00	P.No:	4,912
20	Providing and Fixing Bake lite ceiling rose with two	72.00	P.No:	1,440
30	Providing and Fixing Brass Button holder	70.00	P.No:	2,100
20	Providing and Fixing ceiling fans 56" size good qulity	3,185.00	P.No:	63,700
100	Providing & laying (MAIN OR SUB MAIN) PVC	428.00	P.No:	42,800
1	Providing and Fixing Circuit Breker 30,63 & 100 amps	9,262.00	P.No:	9,262
100	Providing & laying (MAIN OR SUB MAIN) PVC	200.00	P.Meet:	20,000
	insulated with size 2-17 0.30 coper conductor on surface		Total -A	262,638
	PART-B NON SCHEDULE ITEMS 2004			
3	shuter to accommodate circuit brekers i/cpainting with	907.96	P.Sft	2,724
20	Providing and Fixing miled steel bar fan clamps 15.8 mm	141.01	P.No:	2,820
2	Providing and Fixing 1-40 watts tubelights copmlete	396.00	P.No:	792
8	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on	497.00	P.No:	3,976
26	Providing and Fixing energy sawer superior quality i/c	497.00	P.No:	12,922
4	Providing and Fixing & Blub 100 watt	25.00	P.No:	100
20	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with	124.30	P.No:	2,486
	12 20 30 20 100 1 100 3 20 2 8 26	Socket Flush type (S.I.NO.226.P.NO.33) 12 Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-55) on prapired board as required 2 Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-55) on prapired board as required 20 Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33) 30 Providing and Fixing Brass Button holder (S.I.NO.232.P.NO.33) 20 Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235.P.NO.34) 100 Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.36 coper conductor on surface 100 Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.36 coper conductor on surface PART-B NON SCHEDULE ITEMS 2004 3 Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer iob on surface Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14) 2 Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33) 8 Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33) Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33) 4 Providing and Fixing A.C ciling fans regulator on matel	2 Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33) 12 Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-55) on prapired board as required 2 Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-55) on prapired board as required 20 Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33) 30 Providing and Fixing Brass Button holder (S.I.NO.232.P.NO.33) 20 Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.232.P.NO.33) 100 Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235.P.NO.34) 100 Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in Providing and Fixing Circuit Breker 30,63 & 100 amps T.P (DB-55) on prapired board as required 100 Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.36 coper conductor on surface 100 Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.36 coper conductor on surface 100 Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal bail and for other similer iob on surface 100 Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14) 101 Providing and Fixing under the stubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33) 102 Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33) 103 Providing and Fixing energy sawer superior quality i/c deprivation of the similar of the superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33) 104 Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with	2 Providing and Fixing Three Pin 10/15 amps Plug & 151.00 P.No: Socket Flush type (S.I.NO.236.P.NO.33) 12 Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 916.00 P.No: 63 amps S.P (TB-5S) on prapired board as required 2 Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required 20 Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.238.P.NO.33) 30 Providing and Fixing Brass Button holder (S.I.NO.232.P.NO.33) 20 Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.232.P.NO.34) 100 Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in Providing and Fixing Circuit Breker 30,63 & 100 amps T.P (DB-5S) on prapired board as required 100 Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.36 coper conductor on surface 100 Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal bail and for other similer iob on surface 20 Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14) 2 Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.33) 8 Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33) 4 Providing and Fixing and Fixing and Brixing and Brixing and Brixing and Brixing and Providing and Fixing and Providing and Provid

¥1;	2	Providing & fixing earthin set with 2x2x1/4" cooper plate buried in ground at a depth of 12" or less if water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec	3,610.04	P.No:		7,220
		or son Earth plat to be connec		Total -B	X	33,040

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
SHIKARPUR

Amount Total (CSR)

Part "A"	% Above / Below	Total Amount	-
Part "B"	% Above / Below	Total Amount	
Part "C"	% Above / Below	Total Amount	
		Total "A+R+C"	

CONTRACTOR

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

(a). Name of Procuring Agency:- Executive Engineer (Education Works)

<u>Division Shikarpur.</u>

PROVINCIAL ADP SCHEMES

(b). Brief Description of Works:- ADP 164/257 Rehabilitation of Existing High/Higher Secondary School in Sindh (2008-9) Programme

GBHS Hamayoon

	00.			
(c).Procuring Agen		ecutive Engineer ar GBHS No.II Sh		Division Shikarpur
(d). Estimated Cost	::- <u>0.250 (</u>	Millions).		
(e). Amount of Bid amount or in % age	Security: of bid amount /es	5% stimated cost, b	(Fil	l in lump sum 5%)
(f).Period of Bid Va	lidity (days):- 60	Days (Not mo	ore than sixty day	rs).
(g).Security Deposition % age of bid amount				
(h). Percentage, if a	iny, to be deduct	ted from bills:	7.50% Incon	ne tax
(i). Deadline for Sul	omission of Bids	along with tir	ne :- As Per NIT	
(j). Venue, Time, an	d Date of Bid Op	ening:- <u>Near G</u>	BHS II (Shikarpur	As Per NIT).
(k). Time for Compl	etion from writte	n order of cor	nmence:0	6 Months
(L).Liquidity damag			of Estimated Co	ost or Bid cost
(m). Deposit Receipt	No:	Date:	Amoun	t:Rs:
Bank				-
(n). D.R.NO:	DATED:	Amo	unt 1000/-(Rupees:	
(o). Tender issued to	Mr. / M/s		W 566	vt: Contractor.

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Rehabilitation of existing High / Higher Secondary Schools in Sindh (2008-09 Programme)

GBHS Hamayoon

Item No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1	60	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required (S.I.NO.	910.00	P.Point	54,60
2	10	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required (S.I.NO. 130	742.00	P.Point	7,42
3	200	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface fitted	171.00	P.Meet:	34,20
4	60	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219.P.NO.33)	54.00	P.No:	3,24
5	10	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	83
6	2	oviding and Fixing Three Pin 10/15 amps Plug & Socket ush type (S.I.NO.226.P.NO.33)		P.No:	30.
7	10	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required	916.00	P.No:	9,16
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required	2,456.00	P.No:	4,91
9	20	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	1,44
10	30	Providing and Fixing Brass Button holder (S.I.NO.232.P.NO.33)	70.00	P.No:	2,100
11	20	Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235.P.NO.34)	3,185.00	P.No:	63,70
12	50	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in 1" dia PVC	428.00	P.No:	21,400
13	I	Providing and Fixing Circuit Breker 30,63 & 100 amps T.P (DB-5S) on prapired board as required (S.I.NO.202.P.NO.30)	9,262.00	P.No:	9,262
14	50	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.36 coper conductor on surface fitted	200.00	P.Meet:	10,000
				Total -A	222,566
		PART-B NON SCHEDULE ITEMS 2004			
1	3	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer job on surface	907.96	P.Sft	2,724
2	20	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	2,820
3	2	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	792
4	8	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	3,976
5	26	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	12,922
6	4	Providing and Fixing Blub 100 watt (S.I.NO. P.NO.)	25.00	P.No:	100
7	- 7000	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with plastic sheet (S.I.NO.2b.P.NO.14)	124.30	P.No:	2,486

4.5	2	Providing & fixing earthin set with 2x2x1/4" cooper	3,610.04	P.No:		7,220
		plate buried in ground at a depth of 12" or less if water				
		comes out from the ground level with salt and charcoal,	1			
		etc i/c making the pit 12" deep by excavation of all type				
		of soil Earth plat to be connec			0	
				Total -B	K	33,040

Amount Total (CSR)

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
SHIKARPUR

Part "A"	% Above / Below	Total Amount
Part "B"	% Above / Below	Total Amount
Part "C"	% Above / Below	Total Amount
		Total "A+B+C"

CONTRACTOR

Dated:

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

(a). Name of Procuring Agency:- Executive Engineer (Education Works)

<u>Division Shikarpur.</u>

PROVINCIAL ADP SCHEMES

(b). Brief Description of Works:- ADP 293/455 Construction/Re-Construction Existing Office
For field officers of Education & Literacy Deptt: in Larkana
Division

DEO Shikarpur

(c).Procuring Age		xecutive Engineer (Ed ear GBHS No.II Shika		ivision Shikarpur
(d). Estimated Cos	ot:0.400 (Millions).		
(e). Amount of Bid amount or in % age	Security:e of bid amount /e	5% stimated cost, but	(Fill not exceeding	in lump sum 5%)
(f).Period of Bid Va	alidity (days):- 60	0 Days (Not more	than sixty day	s).
(g).Security Depos			10%	
(h). Percentage, if	any, to be deduc	ted from bills:	7.50% Incom	e tax
(i). Deadline for Su	bmission of Bids	s along with time	:- As Per NIT	
(j). Venue, Time, ar	nd Date of Bid Op	oening:- Near GBI	IS II (Shikarpur	As Per NIT).
(k). Time for Comp	letion from writte	en order of comm	nence:06	6 Months
(L).Liquidity dama per day of delay, bu			Estimated Co	st or Bid cost
m). Deposit Receipt	No:	Date:	Amount	:Rs:
Bank				
n). D.R.NO:				One Thousand only).
o). Tender issued to	o Mr. / M/s		Goy	t: Contractor.

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Construction / Re-Construction of Existing Offices for field Officers of Education & Literacy Department in Larkano Division

tem No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1		Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required (S.I.NO. 129 .P.NO.15)	910.00	P.Point	-
2		Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required (S.I.NO. 130 .P.NO.15)	742.00	P.Point	
3		Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface fitted (S.I.NO.3.P.NO.33)	171.00	P.Meet:	
4		Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219.P.NO.33)	54.00	P.No:	12 -
5		Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	•
6		Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33)	151.00	P.No:	
7		Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required (S.I.NO.202.P.NO.30)	916.00	P.No:	,
8		Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required (S.I.NO.202.P.NO.30)	2,456.00	P.No:	-
9		Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	
10		Providing and Fixing Brass Button holder (S.I.NO.232.P.NO.33)	70.00	P.No:	i=
11		Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235.P.NO.34)	3,185.00	P.No:	
12		Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in 1" dia PVC conduate (S.I.NO.6.P.NO.1)	428.00	P.No:	-

	PART-B NON SCHEDULE ITEMS 2004			
1	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer job on surface (S.I.NO.18.P.NO.13)	907.96	P.Sft	
2	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	-
3	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	
4	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	(40)
5	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	-

9	Providing and Fixing Blub 100 ward (5.1 NO. P.NO.)	S-11-3121	tors:	
	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with plastic sheet (S.I.NO.2b.P.NO.14)	124,30	P.No:	
8	Providing & fixing earthin set with 2x2x1/4" cooper plate buried in ground at a depth of 12" or less if water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec	3,610.04	P.No:	
				-
				8

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION

Amount Total (CSR)		SHIKARPUR	
Part "A"	% Above / Below	Total Amount	
Part "B"	% Above / Below	Total Amount	
Part "C"	% Above / Below	Total Amount	
		Total "A+B+C"	

CONTRACTOR

Bank

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

(a). Name of Procuring Agency: - Executive Engineer (Education Works) Division Shikarpur. DISTRICT ADP SCHEMES (b). Brief Description of Works:- ADP 2329/19 Rehabilitation of Existing Boys/Girls Primary Elementary of Taluka & District Shikarpur (2013-14) Prog GBPS New Foujdari (c). Procuring Agency's address: -Executive Engineer (Education Works) Division Shikarpur Near GBHS No.II Shikarpur. (d). Estimated Cost:- 0.200 (Millions). (e). Amount of Bid Security:- 5% (Fill in lump sum amount or in % age of bid amount /estimated cost, but not exceeding 5%) (f). Period of Bid Validity (days):- 60 Days (Not more than sixty days). (g).Security Deposit:-(including bid security):-(in % age of bid amount /estimated cost equal to 10%) (h). Percentage, if any, to be deducted from bills:- 7.50% Income tax (i). Deadline for Submission of Bids along with time :- As Per NIT (j). Venue, Time, and Date of Bid Opening:- Near GBHS II (Shikarpur As Per NIT). (k). Time for Completion from written order of commence: - 06 Months (L).Liquidity damages:- _____ NIL- (0.05 of Estimated Cost or Bid cost per day of delay, but total not exceeding 10%).

(m). Deposit Receipt No: Date: Amount:Rs:

(o) Tender issued to Mr. / M/s

(n). D.R.NO: DATED: Amount 1500/-(Rupees: One Thousand only).

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
SHIKARPUR

Govt: Contractor.

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Rehabilitation of Existing Boys/ Girls Primary/Elementary of Taluka & District Shikarpur (2013-14 Programme)

(i) GBPS New Foujdari Tal: Shikarpur

Item No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			-
1	40	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required	910.00	P.Point	36,400
2	8	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required	742.00	P.Point	5,936
3	170	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface	171.00	P.Meet:	29,070
4	40	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219.P.NO.33)	54.00	P.No:	2,160
5	8	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	664
6	2	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33)	151.00	P.No:	302
7	12	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required	916.00	P.No:	10,992
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required	2,456.00	P.No:	4,912
9	12	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	864
10	20	Providing and Fixing Brass Button holder (S.I.NO.232.P.NO.33)	70.00	P.No:	1,400
11	12	Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235.P.NO.34)	3,185.00	P.No:	38,220
12	100	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in	428.00	P.No:	42,800
				Total -A	173,720

		PART-B NON SCHEDULE ITEMS 2004			
1	2	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer iob on surface	907.96	P.Sft	1,816
2	6	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	846
3	0	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	-
4	8	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	3,976
5	16	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	7,952
6	4	Providing and Fixing Blub 100 watt (S.I.NO. P.NO.)	25.00	P.No:	100
7	6	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with plastic sheet (S.I.NO.2b.P.NO.14)	124.30	P.No:	746

 2	Providing & fixing earthin set with 2x2x1/4" cooper plate buried in ground at a depth of 12" or less if water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec	P.No:	7,220
	or son farm part to se connec	Total -B	22,656

Amount Total (CSR)

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
SHIKARPUR

Part "A"	% Above / Below	Total Amount
Part "B"	% Above / Below	Total Amount
Part "C"	% Above / Below	Total Amount
		Total "A+B+C"

CONTRACTOR

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

(a). Name of Procuring Agency:- Executive Engineer (Education Works)
Division Shikarpur.

DISTRICT ADP SCHEMES

(b). Brief Description of Works:- ADP 2329/19 Rehabilitation of Existing Boys/Girls Primary
Elementary of Taluka & District Shikarpur (2013-14) Prog

GGPS Qazi Habibullah

(c).Procuring Agency's address:-Executive Engineer (Education Works) Division Shikarpur Near GBHS No.II Shikarpur.
(d). Estimated Cost:- 0.200 (Millions).
(e). Amount of Bid Security:- 5% (Fill in lump sum amount or in % age of bid amount /estimated cost, but not exceeding 5%)
(f).Period of Bid Validity (days):- 60 Days (Not more than sixty days).
(g).Security Deposit:-(including bid security):- 10% (in % age of bid amount /estimated cost equal to 10%)
(h). Percentage, if any, to be deducted from bills:- 7.50% Income tax
(i). Deadline for Submission of Bids along with time :- As Per NIT
(j). Venue, Time, and Date of Bid Opening:- Near GBHS II (Shikarpur As Per NIT).
(k). Time for Completion from written order of commence: - 06 Months
(L).Liquidity damages: (0.05 of Estimated Cost or Bid cost per day of delay, but total not exceeding 10%).
(m). Deposit Receipt No:Date: Amount:Rs:
Bank
(n). D.R.NO: DATED: Amount 1500/-(Rupees: One Thousand only).
(o). Tender issued to Mr. / M/s Govt. Contractor.

EXECUTIVE ENGINEER
EXECUTIVE ENGINEER
EXECUTIVE ENGINEER
SHIKARPUR

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Rehabilitation of Existing Boys/ Girls Primary/Elementary of Taluka & District Shikarpur (2013-14 Programme)

(i) GGPS Qazi Habibullah Tal: Shikarpur

Item No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1	40	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required	910.00	P.Point	36,400
2	8	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required	742.00	P.Point	5,936
3	170	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface	171.00	P.Meet:	29,070
4	40	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219.P.NO.33)	54.00	P.No:	2,160
5	8	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	664
6	2	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33)	151.00	P.No:	302
7	12	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required	916.00	P.No:	10,992
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required	2,456.00	P.No:	4,912
9	12	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228,P.NO.33)	72.00	P.No:	864
10	20	Providing and Fixing Brass Button holder (S.I.NO.232.P.NO.33)	70.00	P.No:	1,400
11	12	Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235.P.NO.34)	3,185.00	P.No:	38,220
12	100	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in	428.00	P.No:	42,800
				Total -A	173,720

		PART-B NON SCHEDULE ITEMS 2004			
1	2	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer job on surface	907.96	P.Sft	1,816
2	6	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	846
3	0	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	*
4	8	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	3,976
5	16	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	7,952
6	4	Providing and Fixing Blub 100 watt (S.I.NOP.NO.)	25.00	P.No:	100
7	6	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with plastic sheet (S.I.NO.2b.P.NO.14)	124.30	P.No:	746

. 8	2	Providing & fixing earthin set with 2x2x1/4" cooper plate buried in ground at a depth of 12" or less if water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec	3,610.04	P.No:	0	7,220
				Total -B	1	22,656

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
SHIKARPUR

Amount	Total	(CSR)
CALIFORNIA	T CALLE	1

Part "A"	% Above / Below	Total Amount	
Part "B"	% Above / Below	Total Amount	
Part "C"	% Above / Below	Total Amount	
		Total "A+B+C"	

CONTRACTOR

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

or the Brauning Decem	, _ , , , ,				
(a). Name of Procur		Executive Engi		Works)	
(b). Brief Descriptio	n of Works:- <u>A</u> E P	ADP 2336/26 I			oys/Girls Primary karpur (2013-14)
(c).Procuring Agend	y's address:-	Executive Eng	gineer (Education o.II Shikarpur.	Works) D	ivision Shikarpur
(d). Estimated Cost:	- 0.200) (Millions).			
(e). Amount of Bid S amount or in % age					
(f).Period of Bid Vali	dity (days):-	60 Days_(N	lot more than	sixty days	s).
(g).Security Deposit (in % age of bid amou				10%	
(h). Percentage, if ar	ıy, to be dedu	cted from	bills:7.5	0% Incom	e tax
(i). Deadline for Sub	mission of Bio	ds along w	ith time :- As I	Per NIT	
(j). Venue, Time, and	Date of Bid C	Opening:- <u>N</u>	lear GBHS II (S	hikarpur A	As Per NIT).
k). Time for Comple	tion from writ	tten order o	of commence	:06	Months
L).Liquidity damage per day of delay, but t	otal not exceed	-NIL- ding 10%).	(0.05 of Estim	ated Cos	st or Bid cost
m). Deposit Receipt N	o:	Date:		Amount:	Rs:
Bank					
n). D.R.NO:				-(Rupees: (One Thousand only).
o). Tender issued to I				Dec Park	t: Contractor.

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Rehabilitation of Existing Boys/Girls Primary/Elementary of Taluka Garhi Yasin, District Shikarpur (2013-14

Programme)

Package -VIII (i) GBPS Unar (ii) GBPS Tunia Tal: Garhi Yasin

Item No. Quantities		Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1	40	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required	910.00	P.Point	36,400
2	8	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required	742.00	P.Point	5,936
3	170	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface	171.00	P.Meet:	29,070
4	40	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219.P.NO.33)	54.00	P.No:	2,160
5	8	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	664
6	2	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33)	151.00	P.No:	302
7	12	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required	916.00	P.No:	10,992
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required	2,456.00	P.No:	4,912
9	12	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	864
10	20	Providing and Fixing Brass Button holder (S.I.NO.232.P.NO.33)	70.00	P.No:	1,400
11	12			P.No:	38,220
12	100	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in	428.00	P.No:	42,800
				Total -A	173,720

		PART-B NON SCHEDULE ITEMS 2004			
1	2	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer iob on surface	907.96	P.Sft	1,816
2	6	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	846
3	0	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	*
4	8	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	3,976
5	16	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	7,952
6	4	Providing and Fixing Blub 100 watt (S.I.NOP.NO.)	25.00	P.No:	100
7	6	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with plastic sheet (S.I.NO.2b.P.NO.14)	124.30	P.No:	. 746

8	2	Providing & fixing earthin set with 2x2x1/4" cooper plate buried in ground at a depth of 12" or less if water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec	3,610.04	P.No:	7,220
				Total -B	22,656

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
SHIKARPUR

Amount	Total	(CSR)

Part "A"	% Above / Below	Total Amount
Part "B"	% Above / Below	Total Amount
Part "C"	% Above / Below	Total Amount
		Total "A+B+C"

CONTRACTOR

(o). Tender issued to Mr. / M/s

NII. No: IC/ G55/ Dated:

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

(a). Name of Procuring Agency:- Executive Engineer (Education Works)

Division Shikarpur.

DISTRICT ADP SCHEMES

(b). Brief Description of Works:- ADP 2343/33 Rehabilitation of Existing Boys/Girls Primary

Elementary of Taluka Lakhi District Shikarpur (2013-14)

GGPS Wazirabad

(c).Procuring Agency's		(Education Works) Division Shikarpur
	Near GBHS No.II S	hikarpur.
(d). Estimated Cost:	0.200 (Millions).	
(e). Amount of Bid Sec amount or in % age of b	urity:5% id amount /estimated cost,	(Fill in lump sum but not exceeding 5%)
(f).Period of Bid Validit	y (days):- 60 Days (Not m	ore than sixty days).
	ncluding bid security):- /estimated cost equal to 10	10% %)
(h). Percentage, if any,	to be deducted from bills:	:7.50% Income tax
(i). Deadline for Submis	sion of Bids along with ti	me :- As Per NIT
(j). Venue, Time, and Da	ite of Bid Opening:- Near	GBHS II (Shikarpur As Per NIT).
(k). Time for Completio	n from written order of co	mmence: - 06 Months
(L).Liquidity damages:- per day of delay, but tota		of Estimated Cost or Bid cost
(m). Deposit Receipt No:_	Date:	Amount:Rs:
Bank		
(n). D.R.NO:	DATED:Amo	ount 1000/-(Rupees: One Thousand only

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
SHIKARPUR

Govt: Contractor.

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Rehabilitation of Existing Boys/Girls Primary/Elementary of Taluka Lakhi, District Shikarpur (2013-14 Programme)

GGPS Wazir abad Taluka Lakhi

Item No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1	40	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required	910.00	P.Point	36,400
2	8	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required	742.00	P.Point	5,936
3	170	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface	171.00	P.Meet:	29,070
4	40	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219.P.NO.33)	54.00	P.No:	2,160
5	8	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	664
6	2	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33)	151.00	P.No:	302
7	12	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required	916.00	P.No:	10,992
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required	2,456.00	P.No:	4,912
9	12	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	864
10	20	Providing and Fixing Brass Button holder (S.I.NO.232.P.NO.33)	70.00	P.No:	1,400
11	12	Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235,P.NO.34)	3,185.00	P.No:	38,220
12	100	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in	428.00	P.No:	42,800
				Total -A	173,720

		PART-B NON SCHEDULE ITEMS 2004			
1	2	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer job on surface	907.96	P.Sft	1,816
2	6	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	846
3	0	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	•
4	8	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	3,976
5	16	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	7,952
6	4	Providing and Fixing Blub 100 watt (S.I.NO. P.NO.)	25.00	P.No:	100
7	6 .	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with plastic sheet (S.I.NO.2b.P.NO.14)	124.30	P.No:	746

8	2	Providing & fixing earthin set with 2x2x1/4" cooper	3,610.04	P.No:	7,220
		plate buried in ground at a depth of 12" or less if water			
1		comes out from the ground level with salt and charcoal,			
		etc i/c making the pit 12" deep by excavation of all type			
		of soil Earth plat to be connec			
				Total -B	22,656

Amount Total (CSR)

EXECUTIVE ENGINEER EDUCATION WORKS DIVISION SHIKARPUR

Part "A"	% Above / Below	Total Amount	
Part "B"	% Above / Below	Total Amount	
Part "C"	% Above / Below	Total Amount	Name and the same
		Total "A+B+C"	

CONTRACTOR

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

(a). Name of Procuring Agency:- Executive Engineer (Education Works) Division Shikarpur.	
DISTRICT ADP SCHEMES (b). Brief Description of Works:- ADP 2348/38 Rehabilitation of Existing Both Elementary of Taluka Khanpur District Shik GBPS Mehmooda Bagh	
(c).Procuring Agency's address:-Executive Engineer (Education Works) Div Near GBHS No.II Shikarpur.	vision Shikarpur
(d). Estimated Cost:- 0.300 (Millions).	
(e). Amount of Bid Security: 5%	n lump sum 5%)
(f).Period of Bid Validity (days):- 60 Days (Not more than sixty days).
(g).Security Deposit:-(including bid security):- 10% (in % age of bid amount /estimated cost equal to 10%)	<u>_</u>
(h). Percentage, if any, to be deducted from bills: 7.50% Income	tax
(i). Deadline for Submission of Bids along with time :- As Per NIT	
(j). Venue, Time, and Date of Bid Opening:- Near GBHS II (Shikarpur A	s Per NIT).
k). Time for Completion from written order of commence:06	Months
L).Liquidity damages:- (0.05 of Estimated Cosper day of delay, but total not exceeding 10%).	t or Bid cost
m). Deposit Receipt No:Date: Amount:	Rs:
Bank	
n). D.R.NO: DATED: Amount 1000/-(Rupees: O	ne Thousand only).
o). Tender issued to Mr. / M/sGovt	Contractor

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Rehabilitation of Existing Boys/Girls Primary/Elementary of Taluka Khanpur, District Shikarpur (2013-14 Programme)

GBPS Mehmooda Bagh

Item No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1	60	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required (S.I.NO.	910.00	P.Point	54,60
2	10	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required (S.I.NO. 130	742.00	P.Point	7,42
3	240	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface fitted	171.00	P.Meet:	41,04
4	60	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219.P.NO.33)	54.00	P.No:	3,24
5	10	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	83
6	2	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33)	151.00	P.No:	30
7	12	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required	916.00	P.No:	10,99
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required	2,456.00	P.No:	4,91
9	20	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	1,440
10	30	Providing and Fixing Brass Button holder (S.1.NO.232.P.NO.33)	70.00	P.No:	2,10
11	20	Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235.P.NO.34)	3,185.00	P.No:	63,70
12	100	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in 1" dia PVC	428.00	P.No:	42,80
13	1	Providing and Fixing Circuit Breker 30,63 & 100 amps T.P (DB-5S) on prapired board as required (S.I.NO.202.P.NO.30)	9,262.00	P.No:	9,26
14	100	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.36 coper conductor on surface fitted	200.00	P.Meet:	20,000
				Total -A	262,638
		PART-B NON SCHEDULE ITEMS 2004			
1	3	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer iob on surface	907.96	P.Sft	2,724
2	20	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	2,820
3	2	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	792
4	8	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	3,976
5	26	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	12,922
6	4	Providing and Fixing Blub 100 watt (S.I.NO	25.00	P.No:	100
7	20	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with	124.30	P.No:	2,486
		plastic sheet (S.I.NO.2b.P.NO.14)			

8.4	2	Providing & fixing earthin set with 2x2x1/4" cooper	3,610.04	P.No:	7,220
		plate buried in ground at a depth of 12" or less it water			
,		comes out from the ground level with salt and charcoal,			
		etc i/c making the pit 12" deep by excavation of all type			
		of soil Earth plat to be connec			
				Total -B	33,040

EXECUTIVE ENGINEER

Amount Total (CSR)

EDUCATION WORKS DIVISION SHIKARPUR

Part "A"	% Above / Below	Total Amount
Part "B"	% Above / Below	Total Amount
Part "C"	% Above / Below	Total Amount
		Total "A+B+C"

CONTRACTOR

10

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

(a) Name of Procuring Agency:- Executive Engineer (Education Works)

(a). Name of Procuring Agency:- Executive Engineer (Education Works)

<u>Division Shikarpur.</u>

DISTRICT ADP SCHEMES

- (b). Brief Description of Works:- ADP 2342/32 Rehabilitation of Existing Building for Boys

 /Girls Secondary / Higher Secondary Schools of Taluka

 Lakhi District Shikarpur (2013-14) Programme

 GBHSS Lakhi
- (c). Procuring Agency's address: Executive Engineer (Education Works) Division Shikarpur Near GBHS No.II Shikarpur. (d). Estimated Cost:- 0.200 (Millions). (e). Amount of Bid Security:-(Fill in lump sum amount or in % age of bid amount /estimated cost, but not exceeding 5%) (f).Period of Bid Validity (days):- 60 Days (Not more than sixty days). (g). Security Deposit: -(including bid security):-(in % age of bid amount /estimated cost equal to 10%) (h). Percentage, if any, to be deducted from bills:- 7.50% Income tax (i). Deadline for Submission of Bids along with time :- As Per NIT (j). Venue, Time, and Date of Bid Opening: - Near GBHS II (Shikarpur As Per NIT). (k). Time for Completion from written order of commence: - 06 Months (L).Liquidity damages:- -NIL- (0.05 of Estimated Cost or Bid cost per day of delay, but total not exceeding 10%). (m). Deposit Receipt No: Date: Amount:Rs: Bank (n). D.R.NO: DATED: Amount 1000/-(Rupees: One Thousand only). Govt: Contractor. (o). Tender issued to Mr. / M/s

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Rehabilitation of Existing Building for Boys /Girls Secondary/ Higher Secondary Schools of Taluka Lakhi District Shikarpur (2013-14 Prog:)

GBHSS Lakhi

tem No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1	40	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required	910.00	P.Point	36,400
2	8	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required	742.00	P.Point	5,936
3	170	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface	171.00	P.Meet:	29,070
4	40	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219,P.NO.33)	54.00	P.No:	2,160
5	8	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	664
6	2	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33)	151.00	P.No:	302
7	12	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required	916.00	P.No:	10,992
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required	2,456.00	P.No:	4,912
9	12	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	864
10	20	Providing and Fixing Brass Button holder (S.I.NO.232, P.NO.33)	70.00	P.No:	1,400
11	12	Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235.P.NO.34)	3,185.00	P.No:	38,220
12	100	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in	428.00	P.No:	42,800
		The state of the s		Total -A	173,720

		PART-B NON SCHEDULE ITEMS 2004			
1	2	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer iob on surface	907.96	P.Sft	1,816
2	6	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	846
3	0	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	*
4	8	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	3,976
5	16	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	7,952
6	4	Providing and Fixing Blub 100 watt (S.I.NOP.NO.)	25.00	P.No:	100
7	6	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with plastic sheet (S.I.NO.2b.P.NO.14)	124.30	P.No:	746

*	<u> </u>	Providing & fixing earthin set with 2x2x1/4" cooper plate buried in ground at a depth of 12" or less if water comes out from the ground level with saft and charcoal etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec		P.No:	7.220
i				Total -B	22,656
Amount To	otal (CSR)	EDUCATIO	UTIVE ENG ON WORKS HIKARPUI	DIVISION	
Part "A"		% Above / Below	Total Amo	unt	
Part "B"		% Above / Below	Total Amo	unt	
Part "C"		% Above / Below	Total Amou	unt	

CONTRACTOR

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
SHIKARPUR

Total "A+B+C"

BIDDING DATA

Bank
(m). Deposit Receipt No: Date: Amount:Rs:
(L).Liquidity damages: (0.05 of Estimated Cost or Bid cost per day of delay, but total not exceeding 10%).
(k). Time for Completion from written order of commence: - 06 Months
(j). Venue, Time, and Date of Bid Opening:- Near GBHS II (Shikarpur As Per NIT).
(i). Deadline for Submission of Bids along with time :- As Per NIT
(h). Percentage, if any, to be deducted from bills:- 7.50% Income tax
(g).Security Deposit:-(including bid security):- 10% (in % age of bid amount /estimated cost equal to 10%)
(f).Period of Bid Validity (days):- 60 Days (Not more than sixty days).
(e). Amount of Bid Security: (Fill in lump sum amount or in % age of bid amount /estimated cost, but not exceeding 5%)
(d). Estimated Cost:0.200 (Millions).
(c).Procuring Agency's address:-Executive Engineer (Education Works) Division Shikarpur Near GBHS No.II Shikarpur.
DISTRICT ADP SCHEMES (b). Brief Description of Works:- Rehabilitation of Existing Building for Boys /Girls Primary Schools of Taluka Lakhi District Shikarpur (2015-16) Programme GGPS Lakhi
(a). Name of Procuring Agency:- Executive Engineer (Education Works) Division Shikarpur.
(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Rehabilitation of Existing Building for Boys/Girls Primary School of Tal: Lakhi District Shikarpur (2015-16

(i) GGPS Lakhi

Item No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1	40	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required	910.00	P.Point	36,400
2	8	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required	742.00	P.Point	5,936
3	170	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface	171.00	P.Meet:	29,070
4	40	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219,P.NO.33)	54.00	P.No:	2,160
5	8	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	664
6	2	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33)	151.00	P.No:	302
7	12	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required	916.00	P.No:	10,992
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required	2,456.00	P.No:	4,912
9	12	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	864
10	20	Providing and Fixing Brass Button holder (S.I.NO.232, P.NO.33)	70.00	P.No:	1,400
11	12	Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235.P.NO.34)	3,185.00	P.No:	38,220
12	100	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in	428.00	P.No:	42,800
		AND		Total -A	173,720

		PART-B NON SCHEDULE ITEMS 2004			
1	2	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer iob on surface	907.96	P.Sft	1,816
2	6	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	846
3	0	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	-
4	8	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	3,976
5	16	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	7,952
6	4	Providing and Fixing Blub 100 watt (S.I.NOP.NO.)	25.00	P.No:	100
7	6	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with plastic sheet (S.I.NO.2b.P.NO.14)	124.30	P.No:	746

. 7				
8 2	Providing & fixing earthin set with 2x2x1/4" cooper plate buried in ground at a depth of 12" or less if water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec	3,610.04	PNo	7.220
			Total -B	22,656
Amount Total (CSR)	EDUCATION	TIVE ENG I WORKS IIKARPUE	DIVISION	
Part "A"	% Above / Below	otal Amou	int	
Part "B"	% Above / Below T	otal Amou	ınt _	
Part "C"	% Above / Below T	otal Amou	int -	

CONTRACTOR

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
SHIKARPUR

Total "A+B+C"

NII. NO: IC/ G55/ Dated:

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).

(a). Name of Procuring Agency:- Executive Engineer (Education Works)

Division Shikarpur.

DISTRICT ADP SCHEMES

(b). Brief Description of Works:- Rehabilitation of Existing Building for Boys

/Girls Primary Schools of Taluka Lakhi District Shikarpur
(2015-16) Programme

GGMS Bhirkan

(c). Procuring Agency's address: - Executive Engineer (Education Works) Division Shikarpur

Near GBHS No.II Shikarpur. (d). Estimated Cost:- 0.300 (Millions). (e). Amount of Bid Security:- 5% (Fill in lump sum amount or in % age of bid amount /estimated cost, but not exceeding 5%) (f). Period of Bid Validity (days):- 60 Days (Not more than sixty days). (g).Security Deposit:-(including bid security):-(in % age of bid amount /estimated cost equal to 10%) (h). Percentage, if any, to be deducted from bills:- 7.50% Income tax (i). Deadline for Submission of Bids along with time :- As Per NIT (j). Venue, Time, and Date of Bid Opening: - Near GBHS II (Shikarpur As Per NIT). (k). Time for Completion from written order of commence: - 06 Months (L).Liquidity damages:- -NIL- (0.05 of Estimated Cost or Bid cost per day of delay, but total not exceeding 10%). (m). Deposit Receipt No: _____ Date: ____ Amount:Rs: Bank (n). D.R.NO: _____ DATED: _____ Amount 1000/-(Rupees: One Thousand only). Govt Contractor. (o). Tender issued to Mr. / M/s

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Rehabilitation of Existing Building for Boys/Girls Primary School of Tal: Lakhi District Shikarpur (2015-16 Progr)

GGMS Bhirkan Taluka Lakhi

Item No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1	60	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required	910.00	P.Point	54,60
2	10	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required	742.00	P.Point	7,420
3	240	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface	171.00	P.Meet:	41,040
4	60	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219,P.NO.33)	54.00	P.No:	3,24
5	10	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	830
6	2	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33)	151.00	P.No:	302
7	12	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required	916.00	P.No:	10,992
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required	2,456.00	P.No:	4,912
9	20	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	1,440
10	30	Providing and Fixing Brass Button holder (S.I.NO.232.P.NO.33)	70.00	P.No:	2,100
11	20	Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235.P.NO.34)	3,185.00	P.No:	63,700
12	100	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in	428.00	P.No:	42,800
13	1	Providing and Fixing Circuit Breker 30,63 & 100 amps T.P (DB-5S) on prapired board as required	9,262.00	P.No:	9,262
14	100	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.36 coper conductor on surface	200.00	P.Meet:	20,000
		insulated with Size 2-77 0.30 coper conductor on surface		Total -A	262,638
		PART-B NON SCHEDULE ITEMS 2004			
1	3	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer iob on surface	907.96	P.Sft	2,724
2	20	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	2,820
3	2	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	792
4	8	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	3,976
5	26	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	12,922
6	4	Providing and Fixing Blub 100 watt (S.I.NO	25.00	P.No:	100
7	20	Providing and Fixing A.C ciling fans regulator on matel board recessed in the walls columns and cover with plastic sheet (S.I.NO.2b.P.NO.14)	124.30	P.No:	2,486

r ^{ia}	2	Providing & fixing earthin set with 2x2x1/4" cooper plate buried in ground at a depth of 12' or less if water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec	3,519.04	P.Nos	0	7.220
				Total -B	1	33,040

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
SHIKARPUR

Amount Total (CSR)

Part "A"	% Above / Below	Total Amount	
Part "B"	% Above / Below	Total Amount	
Part "C"	% Above / Below	Total Amount	
		Total "A+B+C"	

CONTRACTOR

19

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents). (a). Name of Procuring Agency: - Executive Engineer (Education Works) Division Shikarpur. DISTRICT ADP SCHEMES (b). Brief Description of Works:- Rehabilitation of Existing Building for Boys /Girls Primary Schools of Taluka Lakhi District Shikarpur (2015-16) Programme GGPS Malhi Goth (c). Procuring Agency's address: -Executive Engineer (Education Works) Division Shikarpur Near GBHS No.II Shikarpur. (d). Estimated Cost:- 0.200 (Millions). (Fill in lump sum (e). Amount of Bid Security:amount or in % age of bid amount /estimated cost, but not exceeding 5%) (f).Period of Bid Validity (days):- 60 Days (Not more than sixty days). (g).Security Deposit:-(including bid security):-(in % age of bid amount /estimated cost equal to 10%) (h). Percentage, if any, to be deducted from bills:- 7.50% Income tax (i). Deadline for Submission of Bids along with time :- As Per NIT (j). Venue, Time, and Date of Bid Opening: - Near GBHS II (Shikarpur As Per NIT). (k). Time for Completion from written order of commence: - 06 Months (L).Liquidity damages:- -NIL- (0.05 of Estimated Cost or Bid cost per day of delay, but total not exceeding 10%). (m). Deposit Receipt No: Date: Amount:Rs: Bank (n). D.R.NO: DATED: Amount 1000/-(Rupees: One Thousand only).

(o). Tender issued to Mr. / M/s

EXECUTIVE ENGINEER
ENCATION WORKS DIVISION
SHIKARPUR

Covt. Contractor.

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK:-

Rehabilitation of Existing Building for Boys/Girls Primary School of Tal: Lakhi District Shikarpur (2015-16 GGPS Malhi Goth Taluka Lakhi

ltem No.	Quantities	Description of item to be executed at site	Rate	Units	Amount
		PART-A SCHEDULE ITEM			
1	20	Wiring for light or fan point with (3/029) PVC insulated wire in 20 mm(3/4") Chennal pati on surface as required (S.I.NO. 129 .P.NO.15)	910.00	P.Point	18,200
2	4	Wiring for plug with (3/0.29(PVC insulated wire in 20mm (3/4") Chennal pati on surface as required (S.I.NO. 130 .P.NO.15)	742.00	P.Point	2,968
3	70	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.29 coper conductor on surface fitted (S.I.NO.3.P.NO.33)	171.00	P.Meet:	11,970
4	20	Providing and Fixing One Way S.P.5 amps switch flush type (S.I.NO.219.P.NO.33)	54.00	P.No:	1,080
5	4	Providing and Fixing Two Pin S.P.5 amps Plug & Socket (S.I.NO.225.P.NO.33)	83.00	P.No:	332
6	1	Providing and Fixing Three Pin 10/15 amps Plug & Socket Flush type (S.I.NO.226.P.NO.33)	151.00	P.No:	15
7	6	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps S.P (TB-5S) on prapired board as required (S.I.NO.202.P.NO.30)	916.00	P.No:	5,496
8	2	Providing and Fixing Circuit Breker 6,10,15,20,30,40,50 & 63 amps D.P (TB-5S) on prapired board as required (S.I.NO.202.P.NO.30)	2,456.00	P.No:	4,912
9	6	Providing and Fixing Bake lite ceiling rose with two terminels (S.I.NO.228.P.NO.33)	72.00	P.No:	432
10	10	Providing and Fixing Brass Button holder (S.I.NO.232.P.NO.33)	70.00	P.No:	700
11	6	Providing and Fixing ceiling fans 56" size good qulity (S.I.NO.235.P.NO.34)	3,185.00	P.No:	19,110
12	40	Providing & laying (MAIN OR SUB MAIN) PVC insulated with size 2-7/0.52 (10mm 2)coper conductor in 1" dia PVC conduate (S.I.NO.6.P.NO.1)	428.00	P.No:	17,120
				Total -A	82,471

		PART-B NON SCHEDULE ITEMS 2004			
1	2	Providing and Fixing distribuation matel board dobble shuter to accommodate circuit brekers i/cpainting with enemal pail and for other similer job on surface (S.I.NO.18.P.NO.13)	907.96	P.Sft	1,816
2	6	Providing and Fixing miled steel bar fan clamps 15.8 mm (5/8") dia suitable for R.C.C (S.I.NO.1.P.NO.14)	141.01	P.No:	846
3	0	Providing and Fixing 1-40 watts tubelights copmlete with 40 watts 4" long etc complete (S.I.NO.1.P.NO.33)	396.00	P.No:	-
4	4	Providing and Fixing wall brakate light fancy type superior quality i/c necessary connection and fixing on wall or ceiling ect complete (S.I.NO.5.P.NO.33)	497.00	P.No:	1,988
5	6	Providing and Fixing energy sawer superior quality i/c fixing on existing holder etc complete (S.I.NO.6.P.NO.33)	497.00	P.No:	2,982
6	4	Providing and Fixing Blub 100 watt (S.I.NO)	25.00	P.No:	100

				Total B	15	5,698
		plate buried in ground at a depth of 12" or less if water comes out from the ground level with salt and charcoal, etc i/c making the pit 12" deep by excavation of all type of soil Earth plat to be connec			S	>
> 10	2	Providing & fixing earthin set with 2x2x1/4" cooper	3,610.04	P.No:	7	7,220
*		board recessed in the walls columns and cover with				

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION

Amount Total (CS	SR)	SHIKARPUR	
Part "A"	% Above / Below	Total Amount	
Part "B"	% Above / Below	Total Amount	
Part "C"	% Above / Below	Total Amount	
		Total "A+B+C"	

CONTRACTOR

BIDDING DATA

(This section should be filled in by the Engineer/Procuring	Agency before issuar	nce
of the Bidding Documents).	7 M	

(a). Name of Procuring Agency:- Executive Engineer (Education Works)

<u>Division Shikarpur.</u>

DISTRICT ADP SCHEMES

- (b). Brief Description of Works:- Rehabilitation of Existing Building for Boys

 /Girls Primary / Elementary Schools of Taluka Khanpur

 District Shikarpur (2013-14) Programme

 GBPS Umar Jafferi
- (c). Procuring Agency's address: -Executive Engineer (Education Works) Division Shikarpur Near GBHS No.II Shikarpur. (d). Estimated Cost:- 0.900 (Millions). (e). Amount of Bid Security:-(Fill in lump sum amount or in % age of bid amount /estimated cost, but not exceeding 5%) (f).Period of Bid Validity (days):- 60 Days (Not more than sixty days). (g).Security Deposit:-(including bid security):-(in % age of bid amount /estimated cost equal to 10%) (h). Percentage, if any, to be deducted from bills:- 7.50% Income tax (i). Deadline for Submission of Bids along with time :- As Per NIT (j). Venue, Time, and Date of Bid Opening: - Near GBHS II (Shikarpur As Per NIT). (k). Time for Completion from written order of commence: - 06 Months (L).Liquidity damages:- ______ NIL- (0.05 of Estimated Cost or Bid cost per day of delay, but total not exceeding 10%). (m). Deposit Receipt No: Date: Amount:Rs: Bank (n). D.R.NO: DATED: Amount 3000/-(Rupees: Three Thousand Five Hundred only).

(o). Tender issued to Mr. / M/s

EXECUTIVE ENGINEER
EDUCATION WORKS DIVISION
WY SHIKARPUR

Govt: Contractor.

B.O.Q OF CIVIL WORK

NAME OF WORK: - REHABILITATION OF EXISTING BUILDING FOR BOYS/GIRLS,

PRIMARY/ELEMENTARY SCHOOLS IN TALUKA KHANPUR DISTRICT

SHIKARPUR(2013-14) AT GHPS UMAR JAFFERY TALUKA KHANPUR.

:.No:	QNTY:	DESCRIPTION	RATE	UNIT	AMOUNT IN Rs:
1	48.0	Dismentling brick work in lime or cement mortar	@ Rs:1285.63	% Cft	6 17/-
2.		Dismentling brick or flagged flooring without concrete foundation. S.I No.30 P.No.12	@ Rs:257.13	% Sft	-
3	384.0	Dismentling cement concrete Plain (1:2:4)	@ Rs:3327.50	% Cft	12778/-
4.	56.0	Dismentling Cement concrete Reinforced separating reinforcement from concrete cleaning & straightening The same	@ Rs:5445.0	% Cft	30 49/~
5.	104.0	Dismentling second class tiles roofing	@ Rs:378.13	% Sft	39 3/-
6.	-	Removing doors with chowkats	@ Rs:S142.18	P.No:	
7.	-	Removing windows and sky light with chowkats	@ Rs:102.85	P.No:	-
8.	•	Removing ventilators and wooden sun shade etc.	@ Rs:51.43	P.No.	-
9.	2. 196	Dismentling rolled steel beams, iron Rails etc.	@ Rs:126.04	P.Cwt	277/-
10.	2313.0	Removing cement or lime plaster	@ Rs:121.00	%Sft	2799/-
11.	•	Dismantling cement concrete plain 1:3:6	@ Rs:1306.80	% Cft	
12	181.0	Excavation in foundation of building bridges and other structure I/C degbelling dressing refilling around the structure with excavated earth watering and ramming lead upto 5 ft. in ordinary soil.	@ Rs:3176.25	%0 Cft	575/-
13	26 2 0	Cement concrete brick or stone ballast 1- 1/2 " to 2" guage i. Cement concrete (ratio 1: 5: 10:) ii. Cement concrete 1: 4: 8:	@ Rs:8694.95 @ Rs:9416.28	% Cft % Cft	22781/-
14.		Dry rammed brick or stone ballast 1/2 " thick to 2" guage	@ Rs:3327.50	% Cft	
15.	80.0	Pacca brick work in foundation and plinth (cement sand mortar 1:6)	@ Rs:11948.36	% Cft	9559/-
16	4.575	Fabrication of miled steel reim force ment for cement concrit I/C cutting, banding and lying in position i/c cost of steel binding wire also i/c removal of rust from bars (a) Tor Steel (b) Miled Steel	@ Ps:5001.70 @ Rs:4820.20	P: Cwt P: Cwt	2288 3/-
17.	10 2.50	R:C:C: work in roof slab beams columns rafts lintels and other structural members laid in sittu or precost laid in position complete in all respects C:C ratio (1: 2: 4:) S.I No.6A P.No.16	@ Rs:337.00	P: Cft.	34543/-
8.	•	Filling watering ramming earth in floor with surplus earth excavated from foundation lead upto one chain and lift upto 5ft.	@ Rs:1512.50	%0 Cft.	-
9.	1181.0	Filling watering ramming earth under floor with new earth (excavated from outside) lead upto one chain and lift upto five ft.	@ Rs:8655.20	%0 C.ft	10 222/-
20.		Supplying and filling sand under floor and plugging in wells.	@ Rs:1643.77	% C.ft	•

- 4	.,	311	

21.	-	Errection and removal of centering for R.C.C or plain cement concrete work of deodar wood (2nd: class)	@ Rs:7000.0	% S.ft	-
22.	45.0	Pacca brick work on ground floor with (1:6 ratio)	@ Rs:12674.36	% Cft	570 3/-
	-	F/F	@ Rs:13112	% Cft	-
23.	233.0	Pacca brick work on other than building with 1:6 (ratio)	@ Rs:12346.65	% Cft	28768/-
24.	1. 446	S/fixing iron girder at site of work	@ Rs:3850.0	P.Cwt	5567/-
25.	2.460	S/Fixing iron t-iron at site of work	@ Rs:3575.0	P.Cwt	8795/-
26.	3.906	Errection of rolled steel beams or iron rails etc.	(Rs:186.34	P.Cwt	728/-
27.	10 4.0	Second class tiles roofing consisting of 4" earth 1" mud plaster with gobri leeping over 1/2" thick cement plaster (1:6 cement mortar including 1:2 cement pointing under neath of tiles complete including curing etc. complete	@ Rs:7607.25	% S.ft	79 12/-
28.	140 4.0	Providing and laying single per layer of polythin sheet 0.13 mm thick for Water proofing as per specification and instruction of Engineer Incharge	@ Rs:10.70	P.Sft ,	150 23/-
29.	64040	Providing and laying 1" thick topping cement concrete (1:2:4) i/c surface finishing and dividing into panels (A) 3" thick (B) 2" thick	@ Rs:4411.82 @ Rs:3275.50	% S.ft	28236/ -
30:	1326	Mud plaster on floor or roof 1" thick	@ Rs:555.0	% S.ft	+3+33/-
1.	2313.0	Applying floating coat of cement 1/32" Thick	@ Rs: 660.0	% S.ft	15266/-
12.	285 3.0	Cement plaster (1:6) upto 20' ft: height G/F 1/2" thick F/F	@ Rs: 2206.60 @ Rs: 2308.84	% S.ft % S.ft	62954/-
33.	2745.0	Cement plaster 1:4 upto 20' ft; height G/F 3/8" thick.	@ Rs: 2197.52 @ Rs: 2299.77	% S.ft % S.ft	60 322/-
14.	•	Cement plaster 1:4 upto 20' ft; height 1/2" thick	@ Rs: 3015.76	% S.ft	
15.	28560	Cement pointing and stricking of joints on Walls ratio. 1: 2	@ Rs:1287.44	% S.ft	3669/-
6	-	Line Neru Plaster (1:2) Lime and Surkhi 1/2" thick.	@ Rs:1036.75	% S.ft	•
17.	35%0	First Class deodar wood wrought joinery in doors and windows etc: fixed in position i/c deodar panelled and glazed 1-3/4 thicks. (b) only shutters	@ Rs: 1273.76 @ Rs: 902.93	P.Sft P.Sft	44582/-
8.	•	Providing and fixing deodar wood Almirah 9-12" depth i/c boxing with back shalves shutter brass	@ Rs: 1748.0	P.Sft	•
9.		fitting etc complete (without box) Fixing doors including chowkats	& Rs: 279.51	Each	•
0.	*	Fixing windows including chowkats	@ Rs: 139.76	Each	•
1.	•	P/F G:I frames / chowkats of size 7" x 2" or 4-1/2"x3" for doors and window using 20 guage G.I sheet i/c welded hinges and fixing at site with necessary hold fasts, filling with cement sand slurry of ratio 1:6 and repairing the jambs. The cost also i/c all carriage, tools and plants used in making and fixing (a) for doors	@ Rs: 228.90	P.Rft	
4		(b) for windows	@ Rs: 240.50	P.Rft	

		1/3			4
42.		Supplying and fixing M:S round bars for barried windows	@ Rs: 3700.0	P.Cwft	-
43.	-	Cutting and fixing M:S round bars for barried windows.	@ Rs: 28.23	P.No.	
14.	48.0	Making of fixing steel grated door with 1/16" thick sheeting I/C angle iron frame 2"x2"x3/8" and 3/4" square bars at 4" center to center with locking arrangements	@ Rs: 726.72	P Sft.	34883/
15.	6.0	Supplying and fixing in position iron/steel grill of 3/4"x1/4" size flat iron of approved design including painting three coats etc complete	@ Rs: 180.50	P.Sft	1083/-
46.	•	Providing and fixing collapsible gate with channel framing of section 3/4"x5/16" at 4" i/c revitted with 3/4"x1/8" flat iron patti placed diagonally and provided with top and bottum T-section 1" x1" 1/8" alongwith rollers also I/c locking arrangement and fixing in floor/ceilling or walls etc complete	@ Rs: 387.04	P.Sft	•
47.	•	P/F iron steel grill door with angle iron frame of 1-1/2"x1-1/2"x1/4" and flat iron of 3"4"x1/4" with approved design and locking arrangement embedded in masonary as per instructions of engineer incharge.	@ Rs: 231.60	P.Sft	•
18.	150	Replacing kallar eaten bricks	@ Rs: 36,6	Each	5495/-
19.	4950	Cement concrete plain i/c placing compacting, finishing and curring complete i/c screening and washing of stone aggregate without shuttering	@Rs: 14429.25	% Cft.	7070/-
	-	(1:2:4) (b) 1:3:6 ration)	@Rs: 12595.0	% Cft.	. •
60.	32.0	Making Notice board made with Cement	@ Rs: 58.11	P.Sft	1860/-
1.	246.0	Laying white marble flooring fine dressed in the surface without winging set in lime mortar 1:2 including rubbing and polishing of the joints. (a) 3/4" thick Flooring	@ Rs: 567.48	P.Sft	139600/~
52.	94.0	P/F 3/8" thick marble tiles of approved quality and colour shade size 8" x 4/6" x4" in dado skirting and facing removal / tucking of existing plaster surface etc. over 1/2 thick base of cement mortar 1:3 setting mortar base including filling the joints and washing the tiles with white cement slurry, current, finishing cleaning and polishing etc. complete. (i) For new works.	@ Rs: 186.04	P.Sft	17488/-
3.	108.0	White glazed tiles 1/4" thick jointed in white cement(1:2) over 3/4" thick cement mortar (1:2) complete	@ Rs: 28253.61	% Sft	30514/-
4.	4040	Lying floor of white glazed tiles 1/4" thick jointed in white cement laid over 3/4" thick bed (1:2) ratio	@ Rs: 27678.86	% Sft	11072/-
5.	112.0	Providing and lying hala or pattern tiles glazed 8"x8"x/4 floor or wall facing in required pattern specification jointed in white cement and pigment over a base of 1:2 grey cement motor 3/4" thick i/c washing in filling of joints with salary of white cement and pigment desired shape with finishing/ cleaning and cost of wax police etc complete i/c cutting tile to proper profile. S.I No.62 P.No.48	@ Rs: 34520.31	% Sft	3866 3/
6.		P/F cement paving blocks flooring having size of 197 x 97 x 60 (MM) of city / Quddra/Cobble shape with natural colours having strength b/w 5000 psi to 8500 psi I/C filling the joints with hillsand laying in specified manner / pattern and design etc complete.	@ Rs: 199.77	P:Sft	•

7.	•••	S/F Steel/Iron Grill of 3/8" Sq: bars Diagonally fixed both way at 3" C.C on 3 /4" x 3 /4"x1/8" etc complete as per instructions given by Engineer Incharge (RA).	@ Rs:329.64	P.Sft	-
	78.0	White wash Three coats	@ Rs:829.95	% S.ft	647/-
8.	1100-0	(b) two coats	@ Rs:425.84	% S.ft	4684/-
	60 3.0		@ Rs:859.90	% S.ft	
9.	3426.0	Colour wash three Coats (b) Two Coats	@ Rs:443.27	% S.ft	5 185/ - 15 186/ -
0.	-	Primary Coat of chalk under distempering	@ Rs:442.75	% S.ft	•
		D'.	@ Rs:1079.65	% S.ft	
1.	2983.0	Distempering Three coats (b) Two Coats	@ Rs:1043.90	% S.ft	31140/-
-	34060	Painting doors and windows any type	@ Rs: 1160.06	% S.ft	3944/-
2.		(a) Old Surface Two coats		% S.ft	(A-54) (1-4 (197)
	7060	(b) New Surface Three coats Painting guard bars, gates iron bars	@ Rs: 2116.41		1481/-
	40.44.0	gratings, railling including standard		10.11.00.00.00.00	6821
3.	10 1 160	braces etc and similar open work	@ Rs: 674.60	%Sft	6820/-
200	178.0	Two Coats (Old Surface) (b) Three Coats	@ Rs: 1270.83	%Sft	226 2/-
4.	-	Fixing water spouts or parmals	€ Rs: 211.75	Each	-
5.	-	Preparing surface and painting with mett finish i/c rubbing bathy (silicon carbide rubbing brick) filling the whites with zinck chalk plaster of paris mixture / applying first coat premix making the surface smooth and than painting 3 coats with matt finish of approved make etc complete new surface. S.I No.36A P.No.55 (a) Two Coat (b) Three Coat	@ Rs: 2700.17 @ Rs: 3444.38	% Sft % Sft	-
6.		Preparing the surface and painting with weather coat i/c rubbing the surface with rubbing brick / sand papar, filling the whites with chalk/ plaster of Paris and than painting with weather coat of approved make. S.I No.38A P.No.56 (a) Two Coat (b) Three Coat	@ Rs: 1858.10 @ Rs: 2567.95	% Sft %Sft.	
7.	A				/
8.					
					
9.					
0.				/	
1.					8
2.56				TOTAL	808,511/~



PART (B) WATER SUPPLY & SANITARY FITTINGS

ion.	Qty:	Description	Rate	Unit	Amount
1	02	Providing & fixing squating type white glazed of flushine cistern fitting & flush pipe with bend and making requiste numbers of holes in wall plinth & floor for pipe connetions & making good in cement 1.2.4 B.(i) W.C of not less 19" clear opening between flushing rims and 3 gallon flushing tank with "4 C.I trape & C.I Thumble (S.I.NO 1.P.NO.1)	4802 60	Each	9605/-
2	6.0	Providing and fixing 4" dia C.I soil & vent pipes including Cutting and fitting and extra painting to match the colour of building.(S.I.NO 1 ,P,NO,8)	333.29	Each	2000/
3	02	Providing & fixing 4"x4"x4" dia C.I branch of the required degree with access doors, rubber washer 1/8" thick and builts & nuts and extra painting to match the colour of the building.(S.I.NO.5.P.NO.8.)	270.6	Each	541/-
4	6'•0	Providing asbestos pipe with collar (Dadex or equivalent) i/c digging the trenche to required deoth and fixing to position and joining with rubber rings including testing to water pressure head of 200 feet S.I No:3 P.No:21 (b) 4" dia Asbestos pipe	188.44	Rft:	1131/-
5		Providing G.I Pipes specials & clamps etc including fixing cutting and fitting complete with and i/c the cost of breaking through walls and roof making good etc. Painting two coats after cleaning the pipe etc. with white zink paint with pigment to match the colour of the building and testing with water to a pressure head of 200 feet and handling. (S.I.NO.1.P.NO.12.)			
	1060	(iii) 1" dia G.I Pipe	128.55	Rft:	1286/-
	1060	(i) 1/2" dia G.I Pipe	73.21	Rft:	732/-
	3050	(ii) 3/4" dia G.I Pipe	95.79	Rft:	2874-
6	02	Supplying & fixing in position brass bib cock b. 3/4" dia brass bib cock. Standard pattern (S.I.NO.1 P.NO.16)	348.92	Each	698/-
7	01	Providing & fixing bal valve (with unsoldered copper ball) made to B.B.S. 1212 (S.I.NO.6. P.NO. 18) (ii) 3/4" dia	290.84	Each	291/-
8	01	Supplying & Fixing Fiber Glass Tank of approved quality and design and wall thickness as soecified i/c cost of nuts bolts and . fixing in plate form of cement concrete 1:3:6 and making connections for in-let out & over flow inlet .outlet flow pipes etc complete (S.I.NO .3. P.NO.18) (a) 250 Gallon thickness 3.5 mm	21989.6	Each	21990/-
9	01	Supplying and fixing approved quality Electric A.C. motor pumping set (Javed Engineering made) 1-1/4"x1" section and delievery with base plate and compiling one horse power single phase motor (siemens make) 60' feet head of 2800 RPM including the cost of nuts and bolts c.c. (1:2:4) Elect Motor	12500	P.No	12500/-
		Providing and Installation of Hand pump 1-1/4" G.I pipe and colr syainer with wooden shap including cost of 4" feet above ground level embded in C.C (1:2:4) with iron handle and required same shape with acc and fixing etc complete.			
10	10:0	(a) Filter pipe	120	Rft:	1200/
	4550	(b) G.I pipe	110	Rft:	4950/-
	01	(c) H.P Machine	2500	P.NO	2500/-

Amount Total (CSR)
Part "A" % Above / Below
Part "B" % Above / Below
CONTRACTOR

20

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents).
(a). Name of Procuring Agency:- Executive Engineer (Education Works) Division Shikarpur.
(b). Brief Description of Works:- Rehabilitation of Existing Building for Boys /Girls Primary / Elementary Schools of Taluka Khanpur District Shikarpur (2013-14) Programme GBPS Qazi Patti
(c).Procuring Agency's address:-Executive Engineer (Education Works) Division Shikarpur Near GBHS No.II Shikarpur.
(d). Estimated Cost:- 0.900 (Millions).
(e). Amount of Bid Security:- 5% (Fill in lump sum amount or in % age of bid amount /estimated cost, but not exceeding 5%)
(f).Period of Bid Validity (days):- 60 Days (Not more than sixty days).
(g).Security Deposit:-(including bid security):- 10% (in % age of bid amount /estimated cost equal to 10%)
(h). Percentage, if any, to be deducted from bills:7.50% Income tax
(i). Deadline for Submission of Bids along with time :- As Per NIT
(j). Venue, Time, and Date of Bid Opening:- Near GBHS II (Shikarpur As Per NIT).
(k). Time for Completion from written order of commence: - 06 Months
(L).Liquidity damages: (0.05 of Estimated Cost or Bid cost per day of delay, but total not exceeding 10%).
(m). Deposit Receipt No: Date: Amount:Rs:
Bank
(n). D.R.NO: DATED: Amount 3000/-(Rupees: Three Thousagest only)
(o). Tender issued to Mr. / M/sGovt: Contractor.

B.O.Q OF CIVIL WORK

NAME OF WORK: REHABILITATION OF EXISTING BUILDING FOR BOYS GIRLS,
PRIMARY ELEMENTARY SCHOOLS IN TALUKA KHANPUR DISTRICT
SHIKARPUR (2013-14-PROGRAMMR) AT G:B:P:S: QAZI PATTI
TALUKA KHANPUR DISTRICT SHIKARPUR.

No:	QNTY:	DESCRIPTION	RATE ,	UNIT	AMOUNT IN Rs:
1	48	Dismentling brick work in lime or cement mortar	@ Rs:1285.63	% Cft	6 17/-
2.	-	Dismentling brick or flagged flooring without concrete foundation. S.I No.30 P.No.12	@ Rs:257.13	% Sft	-
3.	384	Dismentling cement concrete Plain (1:2:4)	@ Rs:3327.50	% Cft	12778/-
4.	56	Dismentling Cement concrete Reinforced separating reinforcement from concrete cleaning & straightening The same	@ Rs:5445.0	% Cft	30 49/-
5.	1411	Dismentling second class tiles roofing	@ Rs:378.13	% Sft	5 3 35/-
6.	•	Removing doors with chowkats	@ Rs:S142.18	P.No:	-
7.	•	Removing windows and sky light with chowkats	@ Rs:102.85	P.No:	-
3	-	Removing ventilators and wooden sun shade etc.	@ Rs:51.43	P.No.	
9.	14.439	Dismentling rolled steel beams, iron Rails etc.	@ Rs:126.04	P.Cwt	18 20/-
0.	2321	Removing cement or lime plaster	@ Rs:121.00	%Sft	2808/2
1.	•	Dismantling cement concrete plain 1:3:6	@ Rs:1306.80	% Cft	-
2.	18 1	Excavation in foundation of building bridges and other structure I/C degbelling dressing refilling around the structure with excavated earth watering and ramming lead upto 5 ft. in ordinary soil.	@ Rs:3176.25	%0 Cft	575/-
3.	26 2	Cement concrete brick or stone ballast 1- 1/2 " to 2" guage i. Cement concrete (ratio 1: 5: 10:) ii. Cement concrete 1: 4: 8:	@ Rs:8694.95 @ Rs:9416.28	% Cft % Cft	22781/-
4.	•	Dry rammed brick or stone ballast 1/2 " thick to 2" guage	@ Rs:3327.50	% Cft	•
5.	80	Pacca brick work in foundation and plinth (cement sand mortar 1:6)	@ Rs:11948.36	% Cft	9559/-
6.	4.576	Fabrication of miled steel reim force ment for cement concrit I/C cutting, banding and lying in position i/c cost of steel binding wire also i/c removal of rust from bars (a) Tor Steel (b) Miled Steel	@ Ps:5001.70 @ Rs:4820.20	P: Cwt P: Cwt	22888/-
7.	10 2.50	R:C:C: work in roof slab beams columns rafts lintels and other structural members laid in sittu or precost laid in position complete in all respects C:C ratio (1: 2: 4:) S.I No.6A P.No.16	@ Rs:337.00	P: Cft.	34543/-
8.		Filling watering ramming earth in floor with surplus earth excavated from foundation lead upto one chain and lift upto 5ft.	@ Rs:1512.50	%0 Cft.	•
9.	450	Filling watering ramming earth under floor with new earth (excavated from outside) lead upto one chain and lift upto five ft.	@ Rs:8655.20	%0 C.ft	3895/-
0.	•	Supplying and filling sand under floor and plugging in wells.	@ Rs:1643.77	% C.ft	•

21	-	Errection and removal of centering for R.C.C or plain cement concrete work of deodar wood (2nd: class)	@ Rs:7000.0	% S.ft	-
22.	45	Pacca brick work on ground floor with (1:6 ratio) G/F F/F	@ Rs:12674.36 @ Rs:13112	% Cft	570 3/-
22	233	Pacca brick work on other than building with 1:6	@ Rs:12346.65	% Cft	28768/-
23.		(ratio)	@ Rs:3850.0	P.Cwt°	
24.	1. 446	S/fixing iron girder at site of work	@ Rs:3575.0	P.Cwt	5567/-
25.	29.972	S/Fixing iron t-iron at site of work			107 150/-
26.	31.418	Errection of rolled steel beams or iron rails etc.	(Rs:186.34	P.Cwt	5854/-
27.	140 4	Second class tiles roofing consisting of 4" earth 1" mud plaster with gobri leeping over 1/2" thick cement plaster (1:6 cement mortar including 1:2 cement pointing under neath of tiles complete including curing etc. complete	@ Rs:7607.25	% S.ft	106806/-
28.	149 4	Providing and laying single per layer of polythin sheet 0.13 mm thick for Water proofing as per specification and instruction of Engineer Incharge	@ Rs:10.70	P.Sft	150 23/-
29.	886 46	Providing and laying 1" thick topping cement concrete (1:2:4) i/c surface finishing and dividing into panels (A) 3" thick (B) 2", thick	@ Rs:4411.82 @ Rs:3275.50	% S.ft % S.ft	390 89/- 1507/-
30.		Mud plaster on floor or roof 1" thick	@ Rs:555.0	% S.ft	•
31.	2321	Applying floating coat of cement 1/32" Thick	@ Rs: 660.0	% S.ft	15 3 19/-
32.	286 1	Cement plaster (1:6) upto 20' ft: height G/F ½" thick	@ Rs: 2206.60 @ Rs: 2308.84	% S.ft % S.ft	63131/-
33.	2753	Cement plaster 1:4 upto 20' ft; height G/F 3/8" thick.	@ Rs: 2197.52 @ Rs: 2299.77	% S.ft % S.ft	60 49 8/-
34.	•	Cement plaster 1:4 upto 20' ft; height 1/2" thick	@ Rs: 3015.76	. % S.ft	•
35.	285	Cement pointing and stricking of joints on Walls ratio. 1: 2	@ Rs:1287.44	% S.ft	3669/-
36.		Line Neru Plaster (1:2) Lime and Surkhi 1/2" thick.	@ Rs:1036.75	% S.ft	7-13
37.	35.0	First Class deodar wood wrought joinery in doors and windows etc: fixed in position i/c deodar panelled and glazed 1-3/4 thicks. (b) only shutters	@ Rs: 1273.76 @ Rs: 902.93	P.Sft P.Sft	44582/-
38.	•	Providing and fixing deodar wood Almirah 9-12" depth i/c boxing with back shalves shutter brass fitting etc complete (without box)	@ Rs: 1748.0	P.Sft	4
39.	· · · · · · · · · · · · · · · · · · ·	Fixing doors including chowkats	€ Rs: 279.51	Each	
40.		Fixing windows including chowkats	@ Rs: 139.76	Each	•
41.	•	P/F G:I frames / chowkats of size 7" x 2" or 4-1/2"x3" for doors and window using 20 guage G.I sheet i/c welded hinges and fixing at site with necessary hold fasts, filling with cement sand slurry of ratio 1:6 and repairing the jambs. The cost also i/c all carriage, tools and plants used in making and fixing (a) for doors	@ Rs: 228.90	P.Rft	
	-	(b) for windows	@ Rs: 240.50	P.Rft	

42	•	Supplying and fixing M:S round bars for barried windows	@ Rs: 3700.0	P.Cwft	-
43.	-	Cutting and fixing M:S round bars for barried windows.	@ Rs: 28.23	P.No.	-
44.	48±0	Making of fixing steel grated door with 1/16" thick sheeting I/C angle iron frame 2"x2"x3/8" and 3/4" square bars at 4" center to center with locking arrangements	@ Rs: 726.72	P Sft.	34883/-
45.	6.0	Supplying and fixing in position iron/steel grill of 3/4"x1/4" size flat iron of approved design including painting three coats etc complete	@ Rs: 180.50	P.Sft	10 8 3/-
46.	•	Providing and fixing collapsible gate with channel framing of section 3/4"x5/16" at 4" //c revitted with 3/4"x1/8" flat iron patti placed diagonally and provided with top and bottum T-section 1" x1" 1/8" alongwith rollers also 1/c locking arrangement and fixing in floor/ceilling or walls etc complete	@ Rs: 387.04	P.Sft	-
47.	•	P/F iron steel grill door with angle iron frame of 1-1/2"x1-1/2"x1/4" and flat iron of 3"4"x1/4" with approved design and locking arrangement embedded in masonary as per instructions of engineer incharge.	@ Rs: 231.60	P.Sft	-
48.	50	Replacing kallar eaten bricks	@ Rs: 36.63	Each	1832/-
49.	7.0	Cement concrete plain i/c placing compacting, finishing and curring complete i/c screening and washing of stone aggregate without shuttering	@Rs: 14429.25	% Cft.	10 10/-
	1 1	(1:2:4) (b) 1:3:6 ration)	,@Rs: 12595.0	% Cft.	-
50.	32.0	Making Notice board made with Cement	@ Rs: 58.11	P.Sft	1860/-
51.	30.0	Laying white marble flooring fine dressed in the surface without winging set in lime mortar 1:2 including rubbing and polishing of the joints. (a) 3/4" thick Flooring	@ Rs: 567.48	P.Sft	170 24/-
52.	15.0	P/F 3/8" thick marble tiles of approved quality and colour shade size 8" x 4/6" x4" in dado skirting and facing removal / tucking of existing plaster surface etc. over 1/2 thick base of cement mortar 1:3 setting mortar base including filling the joints and washing the tiles with white cement slurry, current, finishing cleaning and polishing etc. complete. (i) For new works.	@ Rs: 186.04	P.Sft	2791/-
53.	54.0	White glazed tiles 1/4" thick jointed in white cement(1:2) over 3/4" thick cement mortar (1:2) complete	@ Rs: 28253.61	% Sft	15 257/-
54.	40.0	Lying floor of white glazed tiles 1/4" thick jointed in white cement laid over 1/4" thick bed (1:2) ratio	@ Rs: 27678.86	.% Sft	11072/-
55.	42.0	Providing and lying hala or pattern tiles glazed 8"x8"x/4 floor or wall facing in required pattern specification jointed in white cement and pigment over a base of 1:2 grey cement motor 3/4" thick i/c washing in filling of joints with salary of white cement and pigment desired shape with finishing/ cleaning and cost of wax police etc complete i/c cutting tile to proper profile. S.I No.62 P.No.48	@ Rs: 34520.31	% Sft	14429/-
56.	-	P/F cement paving blocks flooring having size of 197 x 97 x 60 (MM) of city / Quddra/Cobble shape with natural colours having strength b/w 5000 psi to 8500 psi I/C filling the joints with hillsand laying in specified manner / pattern and design etc complete.	@ Rs: 199.77	P:Sft	•

Contd.....P/4

57.	- 24	S/F Steel/Iron Grill of 3/8" Sq: bars Diagonally fixed both way at 3" C.C on 3 /4" x 3 /4"x1/8" etc complete as per instructions given by Engineer Incharge (RA).	@ Rs:329.64	P.Sft	_
58.	-	White wash Three coats (b) two coats	@ Rs:829.95	% S.ft	29.43/
	9 26	(b) two coats	@ Rs:425.84	% S.ft	3943/-
59.	2103	Colour wash three Coats (b) Two Coats	@ Rs:859.90 @ Rs:443.27	% S.ft % S.ft	18084/-
60.	•	Primary Coat of chalk under distempering	@ Rs:442.75	% S.ft	-
			@ Rs:1079.65	% S.ft	-2
61.	2983	Distempering Three coats (b) Two Coats	@ Rs:1043.90	% S.ft	31140/-
	304	Painting doors and windows any type	@ Rs: 1160.06	% S.ft	35 27/-
62.	70	(a) Old Surface Two coats (b) New Surface Three coats	@ Rs: 2116.41	% S.ft	1481/-
63.	395	Painting guard bars, gates iron bars gratings, railling including standard braces etc and similar open work Two Coats (Old Surface)	@ Rs: 674.60	%Sft	2665/-
	794	(b) Three Coats	@ Rs: 1270.83	%Sft	10090/-
64.	•	Fixing water spouts or parmals	€ Rs: 211.75	Each	-
65.	-	Preparing surface and painting with mett finish i/c rubbing bathy (silicon carbide rubbing brick) filling the whites with zinck chalk plaster of paris mixture / applying first coat premix making the surface smooth and than painting 3 coats with matt finish of approved make etc complete new surface. S.I No.36A P.No.55	@ Per 2700 47	% Sft	
	-	(a) Two Coat	@ Rs: 2700.17		
66	,	(b) Three Coat Preparing the surface and painting with weather coat i/c rubbing the surface with rubbing brick / sand papar, filling the whites with chalk/ plaster of Paris and than painting with weather coat of	@ Rs: 3444.38	% Sft	•
66.	≟ # .	approved make, S.I No.38A P.No.56	0.0 405040	0/ 0/	
		(a) Two Coat	@ Rs: 1858.10	% Sft	
		(b) Three Coat	@ Rs: 2567.95	%Sft.	•
67.					1
68.					
		1			
69.					/
1					1
70.					
		2/8			
71.	*				- X
				TOTAL	795.485/-

() 報道主

PART (B) WATER SUPPLY & SANITART THE INTO

	Qty:	Description	Rate	Unit	Amount
1	02	Providing & fixing squating type white glazed of flushine cistern fitting & flush pipe with bend and making requiste numbers of holes in wall plinth & floor for pipe connetions & making good in cement 1:2.4 B.(i) W.C of not less 19" clear opening between flushing rims and 3 gallon flushing tank with "4 C.I trape & C.I Thumble. (S.I.NO 1.P.NO.1)	4802.60	Each	9605/-
2	6.0	Providing and fixing 4" dia C.I soil & vent pipes including Cutting and fitting and extra painting to match the colour of building.(S.I.NO.1,P.NO.8)	333.29	Each	2000/-
3	02	Providing & fixing 4"x4"x4" dia C.I branch of the required degree with access doors, rubber washer 1/8" thick and builts & nuts and extra painting to match the colour of the building.(S.I.NO.5.P.NO.8)	270.6	Each	541/-
4	6.0	Providing asbestos pipe with collar (Dadex or equivalent) i/c digging the trenche to required deoth and fixing to position and joining with rubber rings including testing to water pressure head of 200 feet S.I No:3 P.No:21 (b) 4" dia Asbestos pipe	188.44	Rft:	1131/-
5		Providing G.I Pipes specials & clamps etc including fixing cutting and fitting complete with and i/c the cost of breaking through walls and roof making good etc. Painting two coats after cleaning the pipe etc. with white zink paint with pigment to match the colour of the building and testing with water to a pressure head of 200 feet and handling. (S.I.NO.1.P.NO.12)	Vi. a	2	
	10.0		128.55	Rft:	1286/-
	10.0	(i) 1/2" dia G.I Pipe	73.21	Rft:	732/-
	30.0	(ii) 3/4" dia G.I Pipe	95.79	Rft:	2874/-
6	02	Supplying & fixing in position brass bib cock b. 3/4" dia brass bib cock. Standard pattern (S.I.NO.1 P.NO.16)	348.92	Each	698/-
7 -	01	Providing & fixing bal valve (with unsoldered copper ball) made to B.B.S. 1212 (S.I.NO.6 .P.NO. 18) (ii) 3/4" dia	290.84 -	Each	291/-
8	01	Supplying & Fixing Fiber Glass Tank of approved quality and design and wall thickness as soecified i/c cost of nuts bolts and fixing in plate form of cement concrete 1:3:6 and making connections for in-let out & over flow inlet .outlet flow pipes etc complete (S.I.NO .3. P.NO.18) (a) 250 Gallon thickness 3.5 mm	21989.6	Each	21990/-
9	01	Supplying and fixing approved quality Electric A.C. motor pumping set (Javed Engineering made) 1-1/4"x1" section and delievery with base plate and compiling one horse power single phase motor (siemens make) 60' feet head of 2800 RPM including the cost of nuts and bolts c.c. (1:2:4) Elect: Motor	12500	P.No	12500/-
		Providing and Installation of Hand pump 1-1/4" G.I pipe and colr syainer with wooden shap including cost of 4" feet above ground level embded in C.C (1:2:4) with iron handle and required same shape with acc and fixing etc complete.			
10	10.0	(a) Filter pipe	120	Rft	1200/-
10					IMPAI
10	45.0	(b) G.I pipe	110	Rft:	4950/- 2500/-

Amount Total	(CSR)	
Part "A"	% Above / Below	
Part "B"	% Above / Below	

CONTRACTOR

EXECUTIVE ENGINEER
DUCATION WORKS DIVISION
SHIKARPUR

ANNUAL PROCUREMENT PLAN FOR THE YEAR 2016-2017

IN RESPECT OF EDUCATION WORKS DIVISION SHIKARPUR

S.NO.77 DESCRIPTION OF PROCUREMENT MHERE APPLICABLE ALLOCATION													¥6	
DESCRIPTION OF PROCUREMENT APPLICABLE APPLICABLE APPLICABLE APPLICABLE PROCURING ALADP. SCHEMES (ELECTRICAL WORKS) RECOVINCIAL A.D.P. SCHEMES (ELECTRICAL WORKS) RECOVERY (ELECTRICAL WORK		t,	7	σ	0	O	128/147	4	ω	N	-	123/143		S.No:/ ADP No:
QUANTITY WHERE ALLOCATION WHERE APPLICABLE FOR THE YEAR APPLICABLE Solunce FOR THE YEAR FUNDING OF METHOD T National Compinative bidding single stage one envelope Shikarpur Khanpur		GBPS Allah Warayo Jafferi	GEPS Haji Noor Muhammad Jafferi PACKAGE-VII	GBPS Habibullah Soomro	GBPS Ghulam Hussain Fathan	PACKAGE-V GBPS Gohar Bharchund	Construction of 2-Roomed Shelterless Primary Schools in Sindh (2007-08 Programme)	PACKAGE-IV GBPS Jhangal Shar @ Muhammad Laiq Bhayo GBPS Nabi Bux Kalhoro	PACKAGE-III GBPS Khan Muhammad Kori GBPS Dodo Kosh @ Eid Muhammad Brohi	PACKAGE-II GBPS Habibullah Mungrani GBPS Muhammad Saleh Chachar @ Jumo Jhangwani	PACKAGE-I GBPS Sadoro Khan Jafferi GBPS Lal Pir	PROVINCIAL A.D.P. SCHEMES (ELECTRICAL WORKS) Provision of Missing Facilities under Education Sector Reforms	2	
SOURCE PROCURING OF METHOD T ADP National Compitative bidding single stage one envelope	7	Khanpur	Khanpur	Khanpur	Shikarpur			Khanpur	Khanpur	G.Yasin Khanpur	Shikarpur Shikarpur		3	QUANTITY WHERE APPLICABLE
PROCURING TIME OF METHOD T ADP National Compitative bidding single stage one envelope **T ADP T ADP T ADP T T T T T T T T T T T T T T T T T T T													4	FUNDS ALLOCATION FOR THE YEAR 2016-17
TIME OF PROCUREMEN T													5	SOURCE OF FUNDING
											Compitative bidding single stage one envelope	Na to to to to	6	PROCURING
REMARKS 8												ADP	7	TIME OF PROCUREMEN
1 11					- 79				55				8	REMARKS

	16	2342/32	2348/38	4	2343/33		. 13	2336/26	12	=	2329/19	10	293/455	ယ	8 164/257		162/255	S.No:/ ADP No:	
COLIGO CONTIN	GBHSS Lakki	Rehabilitation of Existing Building for Boys (Girls Secondary) Higher Secondary Schools of Taluka Lakhi District Shikarpur (2013-14 Prog.)	Rehabilitation of Existing Boys/Girls Primary/Elementary of Taluka Khanpur, District Shikarpur (2013-14 Programme) GBPS Mehmood Bagh	GGPS Wazir Abad	Rehabilitation of Existing Boys/Girls Primary/Elementary of Taluka Lakhi, District Shikarpur /2013-14 Programme)	GBPS Tunia	PACKAGE-VIII GBPS Unnar	Rehabilitation of Existing Boys/Girls Primary/Elementary of Taluka Garhi Yasin, District Shikarpur (2013-14 Programme)	GGPS Qazi Habibullah	GBPS New Foujdari	DISTRICT A.D.P. SCHEMES Rehabilitation of Existing Boys/ Girls Primary/Elementary of Taluka & District Shikarpur (2013-14 Programme)	District Education Office Shikarpur	Construction / Re-Construction of Existing Offices for field Officers of Education & Literacy Department in Larkage District	GBHS Hamayoon	Middle Schools to High Schools GGMS Bukeja Muhallah U.C-7 Rehabilitation of existing High / Higher Secondary Schools in Sindh (2008-09 Programme)	ingliet secondary schools in Sindh (2007-08 Programme)	Up-gradation of Middle Schools to High Schools & High Schools to	DESCRIPTION OF PROCUREMENT	
Lakhi			Lakhi	Lakhi	*	G.Yasin G.Yasin			Shikarpur	OF I	Constitution	Shikarnur		Shikarpur	Shikarpur			QUANTITY WHERE APPLICABLE	
							•								**		7191.07	FUNDS ALLOCATION FOR THE YEAR	A STATE OF THE PROPERTY OF THE
						•												SOURCE	
																+		PROCURING	
																	-	TIME OF PROCUREMEN	
																		REMARKS	

Lakhi

17			ADP No.	co E
Tal: Lakhi District Shikarpur (2015-16 Progr) GGPS Lakhi	Renabilitation of Existing Building for Boys/Girls Primary School of		CESCRIPTON OF PROCURE CENT	
Laxh.		APPLICABLE	WHIND THE THE THE THE THE THE THE THE THE THE	ALILINYEO
	2016-17	FOR THE YEAR	ALLOCATION	FUNDS
	FONDING		# C C C C C C C C C C C C C C C C C C C	9 10 10 10 10 10 10 10 1
		METHOD	PROCURING	
	-	TROCUREMEN	TIME OF	
Tree and the second sec		REWARKS		08

<u>~</u>

GGMS Bhirkan

9

Rehabilitation of Existing Building for Boys/Girls Primary Elemantary Schools of Tal: Khanpuri District Shikarpur (2013-14 Progr) (External GGPS Malhi Goth

Davelooment) GBPS Umar Jafferi

20

21

GBPS Qazi Patti

Lakhi

Lakhi

Khanpur

CATION WORKS DIVISION

STANDARD BIDDING DOCUMENT PROCUREMENT OF WORKS

(For Contracts Costing up to Rs 2.5 MILLION)

Standard Bidding Document is intended as a model for admeasurements (Percentage Rate/unit price for unit rates in a Bill of Quantities) types of contract. The main text refers to admeasurements contracts.

Instructions to Bidders/ Procuring Agencies.

General Rules and Directions for the Guidance of Contractors.

This section of the bidding documents should provide the information necessary for bidders to prepare responsive bids, in accordance with the requirements of the Procuring Agency. It should also give information on bid submission, opening and evaluation, and on the award of contract.

Matters governing the performance of the Contract or payments under the Contract, or matters affecting the risks, rights, and obligations of the parties under the Contract are included as Conditions of Contract and Contract Data.

The *Instructions to Bidders* will not be part of the Contract and will cease to have effect once the contract is signed.

1. All work proposed to be executed by contract shall be notified in a form of Notice Inviting Tender (NIT)/Invitation for Bid (IFB) hoisted on website of Authority and Procuring Agency and also in printed media where ever required as per rules.

NIT must state the description of the work, dates, time and place of issuing, submission, opening of bids, completion time, cost of bidding document and bid security either in lump sum or percentage of Estimated Cost/Bid Cost. The interested bidder must have valid NTN also.

- 2. Content of Bidding Documents must include but not limited to: Conditions of contract, Contract Data, specifications or its reference, Bill of Quantities containing description of items with scheduled/item rates with premium to be filled in form of percentage above/ below or on item rates to be quoted, Form of Agreement and drawings.
- 3. Fixed Price Contracts: The Bid prices and rates are fixed during currency of contract and under no circumstance shall any contractor be entitled to claim enhanced rates for any item in this contract.
- **4.** The Procuring Agency shall have right of rejecting all or any of the tenders as per provisions of SPP Rules 2010.
- 5. Conditional Offer: Any person who submits a tender shall fill up the usual printed form stating at what percentage above or below on the rates specified in Bill of Quantities for items of work to be carried out: he is willing to undertake the work and also quote the rates for those items which are based on market rates. Only one rate of such percentage, on all the Scheduled Rates shall be framed. Tenders, which propose any alternative in the works specified in the said form of invitation to tender or in the time

allowed for carrying out the work, or which contain any other conditions, will be liable to rejection. No printed form of tender shall include a tender for more than one work, but if contractor wish to tender for two or more works, they shall submit a separate tender for each.

The envelope containing the tender documents shall refer the name and number of the work.

- 6. All works shall be measured by standard instruments according to the rules.
- 7. Bidders shall provide evidence of their eligibility as and when requested by the Procuring Agency.
- **8.** Any bid received by the Agency after the deadline for submission of bids shall be rejected and returned unopened to the bidder.
- 9.Prior to the detailed evaluation of bids, the Procuring Agency will determine whether the bidder fulfills all codal requirements of eligibility criteria given in the tender notice such as registration with tax authorities, registration with PEC (where applicable), turnover statement, experience statement, and any other condition mentioned in the NIT and bidding document. If the bidder does not fulfill any of these conditions, it shall not be evaluated further.
- Bid without bid security of required amount and prescribed form shall be rejected.
- 11. Bids determined to be substantially responsive shall be checked for any arithmetic errors. Arithmetical errors shall be rectified on the following basis:
 - (A) In case of schedule rates, the amount of percentage quoted above or below will be checked and added or subtracted from amount of bill of quantities to arrive the final bid cost.
 - (B) In case of item rates, .If there is a discrepancy between the unit rate and the total cost that is obtained by multiplying the unit rate and quantity, the unit rate shall prevail and the total cost will be corrected unless in the opinion of the Agency there is an obvious misplacement of the decimal point in the unit rate, in which case the total cost as quoted will govern and the unit rate corrected. If there is a discrepancy between the total bid amount and the sum of total costs, the sum of the total costs shall prevail and the total bid amount shall be corrected.
 - (C) Where there is a discrepancy between the amounts in figures and in words, the amount in words will govern.

BIDDING DATA

is section should be filled in by the Engineer/Procuring Agency before issuance of the ding Documents).
Name of Procuring Agency
Brief Description of Works
Procuring Agency's address:-
Estimated Cost:-
Amount of Bid Security:(Fill in lump sum amoun
or in % age of bid amount /estimated cost, but not exceeding 5%)
Period of Bid Validity (days): (Not more than sixty days).
Security Deposit:-(including bidsecurity):
% age of bid amount /estimated cost equal to 10%)
Percentage, if any, to be deducted from bills :
Deadline for Submission of Bids along with time :
Venue, Time, and Date of Bid Opening:-
Time for Completion from written order of commence: -
Liquidity damages:(0.05 of Estimated Cost or Bid cost
per day of delay, but total not exceeding 10%).
Deposit Receipt No: Date: Amount:(in words and figures)
(Executive Engineer/Authority issuing bidding document)

Conditions of Contract

Clause – 1:Commencement & Completion Dates of work. The contractor shall not enter upon or commence any portion or work except with the written authority and instructions of the Engineer-in-charge or of in subordinate-in-charge of the work. Failing such authority the contractor shall have no claim to ask for measurements of or payment for work.

The contractor shall proceed with the works with due expedition and without delay and complete the works in the time allowed for carrying out the work as entered in the tender shall be strictly observed by the contractor and shall reckoned from the date on which the order to commence work is given to the contractor. And further to ensure good progress during the execution of the wok, contractor shall be bound, in all in which the time allowed for completion of any work exceeds one month, to achieve progress on the prorate basis.

Clause – 2:Liquidated Damages. The contractor shall pay liquidated damages to the Agency at the rate per day stated in the bidding data for each day that the completion date is later than the Intended completion date; the amount of liquidated damage paid by the contractor to the Agency shall not exceed 10 per cent of the contract price. Agency may deduct liquidated damages from payments due to the contractor. Payment of liquidated damages does not affect the contractor's liabilities.

Clause - 3: Termination of the Contract.

- (A) Procuring Agency/Executive Engineer may terminate the contract if either of the following conditions exits:-
 - (i) contractor causes a breach of any clause of the Contract:
 - (ii) the progress of any particular portion of the work is unsatisfactory and notice of 10 days has expired;
 - (iii) in the case of abandonment of the work owing to the serious illness or death of the contractor or any other cause.
 - (iv) contractor can also request for termination of contract if a payment certified by the Engineer is not paid to the contractor within 60 days of the date of the submission of the bill:
- (B) The Executive Engineer/Procuring Agency has power to adopt any of the following courses as may deem fit:-
 - to forfeit the security deposit available except conditions mentioned at A
 (iii) and (iv) above;
 - (ii) to finalize the work by measuring the work done by the contractor.

- (C) In the event of any of the above courses being adopted by the Executive Engineer/Procuring Agency, the contractor shall have:-
 - (i) no claim to compensation for any loss sustained by him by reason of his having purchased or procured any materials, or entered into engagements, or made any advances on account of, or with a view to the execution of the work or the performance of the contract,
 - (ii) however, the contractor can claim for the work done at site duly certified by the executive engineer in writing regarding the performance of such work and has not been paid.

Procuring Agency/Engineer may invite fresh bids for remaining work.

Clause 4: Possession of the site and claims for compensation for delay. The Engineer shall give possession of all parts of the site to the contractor. If possession of site is not given by the date stated in the contract data, no compensation shall be allowed for any delay caused in starting of the work on account of any acquisition of land, water standing in borrow pits/ compartments or in according sanction to estimates. In such case, either date of commencement will be changed or period of completion is to be extended accordingly.

Clause –5: Extension of Intended Completion Date. The Procuring Agency either at its own initiatives before the date of completion or on desire of the contractor may extend the intended completion date, if an event (which hinders the execution of contract) occurs or a variation order is issued which makes it impossible to complete the work by the intended completion date for such period as he may think necessary or proper. The decision of the Executive Engineer in this matter shall be final; where time has been extended under this or any other clause of this agreement, the date for completion of the work shall be the date fixed by the order giving the extension or by the aggregate of all such orders, made under this agreement.

When time has been extended as aforesaid, it shall continue to be the essence of the contract and all clauses of the contract shall continue to be operative during the extended period.

Clause –6: Specifications. The contractor shall execute the whole and every part of the work in the most substantial and work-man-like manner and both as regards materials and all other matters in strict accordance with the specifications lodged in the office of the Executive Engineer and initialed by the parties, the said specification being a part of the contract. The contractor shall also confirm exactly, fully and faithfully to the designs, drawing, and instructions in writing relating to the work signed by the Engineer-in-charge and lodge in his office and to which the contractor shall be entitled to have access at such office or on the site of work for the purpose of inspection during office hours and the contractor shall, if he so requires, be entitled at his own expense to make or cause to be made copies of the specifications, and of all such designs, drawings, and instructions as aforesaid.

Clause - 7: Payments.

(A) Interim/Running Bill. A bill shall be submitted by the contractor as frequently as the progress of the work may justify for all work executed and not included in any previous bill at least once in a month and the Engineer-in-charge shall take or cause to be taken the requisite measurements for the purpose of having the same verified and the claim, as for as admissible, adjusted, if possible before the expiry of ten days from the presentation of the bill, at any time depute a subordinate to measure up the said work in the presence of the contractor or his authorized agent, whose countersignature to the measurement list will be sufficient to warrant and the Engineer-in-charge may prepare a bill from such list which shall be binding on the contractor in all respects.

The Engineer /Procuring Agency shall pass/certify the amount to be paid to the contractor, which he considers due and payable in respect thereof, subject to deduction of security deposit, advance payment if any made to him and taxes.

All such intermediate payment shall be regarded as payments by way of advance against the final payment only and not as payments for work actually done and completed, and shall not preclude the Engineer-in-charge from recoveries from final bill and rectification of defects and unsatisfactory items of works pointed out to him during defect liability period.

(B) The Final Bill. A bill shall be submitted by the contractor within one month of the date fixed for the completion of the work otherwise Engineer-in-charge's certificate of the measurements and of the total amount payable for the works shall be final and binding on all parties.

Clause – 8: Reduced Rates. In cases where the items of work are not accepted as so completed, the Engineer-in-charge may make payment on account of such items at such reduced rates as he may consider reasonable in the preparation of final or on running account bills with reasons recorded in writing.

Clause - 9: Issuance of Variation and Repeat Orders.

- (A) Agency may issue a Variation Order for procurement of works, physical services from the original contractor to cover any increase or decrease in quantities, including the introduction of new work items that are either due to change of plans, design or alignment to suit actual field conditions, within the general scope and physical boundaries of the contract.
- (B) Contractor shall not perform a variation until the Procuring Agency has authorized the variation in writing subject to the limit not exceeding the contract cost by of 15% on the same conditions in all respects on which he agreed to do them in the

- work, and at the same rates, as are specified in the tender for the main work. The contractor has no right to claim for compensation by reason of alterations or curtailment of the work.
- (C) In case the nature of the work in the variation does not correspond with items in the Bill of Quantities, the quotation by the contractor is to be in the form of new rates for the relevant items of work, and if the Engineer-in-charge is satisfied that the rate quoted is within the rate worked out by him on detailed rate analysis, and then only he shall allow him that rate after approval from higher authority.
- (D) The time for the completion of the work shall be extended in the proportion that the additional work bear to the original contact work.
- (E) In case of quantities of work executed result the Initial Contract Price to be xceeded by more than 15%, and then Engineer can adjust the rates for those quantities causing excess the cost of contract beyond 15% after approval of Superintending Engineer.
- **(F) Repeat Order:** Any cumulative variation, beyond the 15% of initial contract amount, shall be subject of another contract to be tendered out if the works are separable from the original contract.

Clause-10: Quality Control.

- (A) Identifying Defects: If at any time before the security deposit is refunded to the contractor/during defect liability period mentioned in bid data, the Engineer-incharge or his subordinate-in-charge of the work may instruct the contractor to uncover and test any part of the works which he considers may have a defect due to use of unsound materials or unskillful workmanship and the contractor has to carry out a test at his own cost irrespective of work already approved or paid.
- (B) Correction of Defects: The contractor shall be bound forthwith to rectify or remove and reconstruct the work so specified in whole or in part, as the case may require. The contractor shall correct the notified defect within the Defects Correction Period mentioned in notice.

(C) Uncorrected Defects:

(i) In the case of any such failure, the Engineer-in-charge shall give the contractor at least 14 days notice of his intention to use a third party to correct a defect. He may rectify or remove, and re-execute the work or remove and replace the materials or articles complained of as the case may be at the risk and expense in all respects of the contractor. (ii) If the Engineer considers that rectification/correction of a defect is not essential and it may be accepted or made use of; it shall be within his discretion to accept the same at such reduced rates as he may fix therefore.

Clause - 11:

- (A) Inspection of Operations. The Engineer and his subordinates, shall at all reasonable times have access to the site for supervision and inspection of works under or in course of execution in pursuance of the contract and the contractor shall afford every facility for and every assistance in obtaining the right to such access.
- (B) Dates for Inspection and Testing. The Engineer shall give the contractor reasonable notice of the intention of the Engineer-in-charge or his subordinate to visit the work shall have been given to the contractor, then he either himself be present to receive orders and instructions, or have a responsible agent duly accredited in writing present for that purpose, orders given to the contractor's duly authorized agent shall be considered to have the same force an effect as if they had been given to the contractor himself.

Clause - 12: Examination of work before covering up.

- (A) No part of the works shall be covered up or put out of view/beyond the reach without giving notice of not less than five days to the Engineer whenever any such part of the works or foundations is or are ready or about to be ready for examination and the Engineer shall, without delay, unless he considers it unnecessary and advises the contractor accordingly, attend for the purpose of examining and measuring such part of the works or of examining such foundations;
- (B) If any work is covered up or placed beyond the reach of measurement without such notice having been given, the same shall be uncovered at the contractor's expense, and in default thereof no payment or allowance shall be made for work, or for the materials with which the same was executed.

Clause – 13: Risks. The contractor shall be responsible for all risks of loss of or damage to physical property or facilities or related services at the premises and of personal injury and death which arise during and in consequence of its performance of the contract. if any damage is caused while the work is in progress or become apparent within three months of the grant of the certificate of completion, final or otherwise, the contractor shall make good the same at his own expense, or in default the Engineer may cause the same to be made good by other workmen, and deduct the expenses from retention money lying with the Engineer.

Clause-14: Measures for prevention of fire and safety measures. The contractor shall not set fire to any standing jungle, trees, bush-wood or grass without a written permit from the Executive Engineer. When such permit is given, and also in all cases when destroying, cutting or uprooting trees, bush-wood, grass, etc by fire, the contractor shall take necessary measures to prevent such fire spreading to or otherwise damaging surrounding property. The contractor is responsible for the safety of all its activities including protection of the environment on and off the site. Compensation of all damage done intentionally or unintentionally on or off the site by the contractor's labour shall be paid by him.

Clause-15:Sub-contracting. The contractor shall not subcontract the whole of the works, except where otherwise provided by the contract. The contractor shall not subcontract any part of the works without the prior consent of the Engineer. Any such consent shall not relieve the contractor from any liability or obligation under the contract and he shall be responsible for the acts, defaults and neglects of any subcontractor, his agents, servants or workmen as if these acts, defaults or neglects were those of the contractor, his agents' servants or workmen. The provisions of this contract shall apply to subcontractor or his employees as if he or it were employees of the contractor.

Clause – 16: Disputes. All disputes arising in connection with the present contract, and which cannot be amicably settled between the parties, the decision of the Superintending Engineer of the circle/officer/one grade higher to awarding authority shall be final, conclusive and binding on all parties to the contract upon all questions relating to the meaning of the specifications, designs drawings, and instructions, hereinbefore mentioned and as to the quality of workmanship, or materials used on the work or as to any other questions, claim, right, matter, or thing whatsoever in any way arising out of, or relating to the contract design, drawings, specifications, estimates, instructions, orders or these conditions or otherwise concerning the works, or the execution, of failure to execute the same, whether arising, during the progress of the work, or after the completion or abandonment thereof.

Clause -17: Site Clearance. On completion of the work, the contractor shall be furnished with a certificate by the Executive Engineer (hereinafter called the Engineer incharge) of such completion, but neither such certificate shall be given nor shall the work be considered to be complete until the contractor shall have removed all temporary structures and materials brought at site either for use or for operation facilities including cleaning debris and dirt at the site. If the contractor fails to comply with the requirements of this clause then Engineer-in-charge, may at the expense of the contractor remove and dispose of the same as he thinks fit and shall deduct the amount of all expenses so incurred from the contractor's retention money. The contractor shall have no claim in respect of any surplus materials as aforesaid except for any sum actually realized by the sale thereof.

Clause -18: Financial Assistance /Advance Payment.

- (A) Mobilization advance is not allowed.
- (B) Secured Advance against materials brought at site.
 - (i) Secured Advance may be permitted only against imperishable materials/quantities anticipated to be consumed/utilized on the work within a period of three months from the date of issue of secured advance and definitely not for full quantities of materials for the entire work/contract. The sum payable for such materials on site shall not exceed 75% of the market price of materials;
 - (ii) Recovery of Secured Advance paid to the contractor under the above provisions shall be affected from the monthly payments on actual consumption basis, but not later than period more than three months (even if unutilized).

Clause –19: Recovery as arrears of Land Revenue. Any sum due to the Government by the contractor shall be liable for recovery as arrears of Land Revenue.

Clause –20: Refund of Security Deposit/Retention Money. On completion of the whole of the works (a work should be considered as complete for the purpose of refund of security deposit to a contractor from the last date on which its final measurements are checked by a competent authority, if such check is necessary otherwise from the last date of recording the final measurements), the defects notice period has also passed and the Engineer has certified that all defects notified to the contractor before the end of this period have been corrected, the security deposit lodged by a contractor (in cash or recovered in installments from his bills) shall be refunded to him after the expiry of three months from the date on which the work is completed.

Divisional Accountant

Contractor

Executive Engineer/Procuring Agency

BILL OF QUANTITIES

(A) Description and rate of Items based on Composite Schedule of Rates.

Item No	Quantities	Description of item to be executed at site	Rate	Unit	Amount in Rupees
1	2	3	4	5	6

Amount TOTAL (a)	
% above/below on the rates of CSR	Amount to be added/deducted on the basis Of premium quoted. TOTAL (
Total (A) = a+b in words & figures:	
Contractor	Executive Engineer/Procuring Agency

(B) Description and rate of Items based on Market (Offered rates)

Item No	Quantities	Description of item to be executed at site	Rate	Unit	Amount in Rupees

Total (B) in words & figures:

Contractor

Executive Engineer/Procuring Agency

Summary of Bill of Quantities.

Cost of Bid

Amount

- 1. (A) Cost based on Composite Schedule of Rates.
- 2. (B) Cost based on Non/Offered Schedule of Rates.

TOTAL COST OF BID (C) = Total (A) + Total (B)

Contractor

Executive Engineer/Procuring Agency

EXECUTIVE ENGINEER

EXECUTIVE ENGINEER

SHIKARPUR